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Question Number : 1 Question Id : 60092910758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series:

WME, VLE, , TIC, SIB
Options :

1. ® DKL

2. % GMO

3. ®* RNA

4, ¥ UKD

Question Number : 1 Question Id : 60092910758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRad s1&R §aan ¥ Jud Ug Jrd e

WMF, VLE, , TJIC, SIB
Options :

1. ¥ DKL

2. % GMO

3. ¥ RNA

4.+ UKD

Question Number : 2 Question Id : 60092910759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Gallery
2. Galactose
3. Galilean
4. Gallantry
5. Galloping

Options :

1. ¥ 23415
2. % 23145
3. % 23514
4. % 23451

Question Number : 2 Question Id : 60092910759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T Usal P ST HH H TafRUd R SE FAH I TeH H B B

1. Gallery
2. Galactose




3. Galilean
4. Gallantry
5. Galloping

Options :

1. ¥ 23415
2. % 23145
3. % 23514
4. % 23451

Question Number : 3 Question Id : 60092910760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ BDFG
2. % HILN
3. % OQSU
4. % TVXZ

Question Number : 3 Question Id : 60092910760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T fawed & 9 & Te Y Rid 3 90 § | 810D, Uh [Aded 31 diF &1 dve ol ¢ | 34 [dded &1 78 B oIl 37 I 3T 5|
Options :

1. ¥ BDFG

2. % HJLN

3. % 0QSU

4, = TVXZ

Question Number : 4 Question Id : 60092910761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ SOURCE : TNVQDD
2. % NATION : OZUHPM
3. ¥ RESULT : SFTVMU
4. % PRISON : QQJRPM

Question Number : 4 Question Id : 60092910761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Tt fiwedl A @ & e Rfd %  THH 81 gTdiTd, T faded 30 diF o1 oRE el ¢ | 39 fdshed o1 Iu= &Y oY 30 ¥ 3T 5|
Options :

1. # SOURCE : TNVQDD

2. ¥ NATION : OZUHPM

3. % RESULT : SFTVMU

4. % PRISON : QQJRPM

Question Number : 5 Question Id : 60092910762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Synonym : Same :: Antonym : ?
Options :

1. # Exact

2. # Similar

3. % Associated

4. ¥ Opposite

Question Number : 5 Question Id : 60092910762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 fasred &1 999 B S R Ue § I UHR ¥ afd § oy R ¥ k1 Ue Ugd Ue § Yafdd 7
qafgardt : gA - om0

Options :

1. % gl
2. % YHMH
3. % Jog
4. ¢ faumdid

Question Number : 6 Question Id : 60092910763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Profit : Loss :: ?
Options :

1. # Upset : Depressed
2. ¥ Blunt : Sharp

3. % Full : Complete
4. # Rigid : Tough

Question Number : 6 Question Id : 60092910763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % TR : 391G
2. ¥ HIRT - e



B.sztﬂﬁ
4. % HOR: T¥d

Question Number : 7 Question Id : 60092910764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if LARGER is coded as AMGSRF, how will RAINED be coded as?
Options :

1. ®* ASNDIJF

2. ¥ ASNJDF

3. ¥ ASINDF

4. % ANSJDF

Question Number : 7 Question Id : 60092910764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T f3d Hie YT H, afd LARGER & AMGSRF & %0 § ®Ife$d a1 TR 8, O RAINED &1 4l ifed fohar S
Options :

1. # ASNDIJF

2. ¥ ASNJDF

3. ¥ ASJNDF

4. % ANSJDF

Question Number : 8 Question Id : 60092910765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code, "fir kir tin" means 'brown is better', "kir pot tat" means brown and magenta, and "tin pot fat" means " magenta is awesome"

then what will be the code of " awesome"?

Options :
1. ¥ fat
2. % pot

2



3. % kir
4. % tin

Question Number : 8 Question Id : 60092910765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s [Agd &8 |, fir kir tin"" BT 31 B 'brown is better', ""kir pot tat"" Pl 314 8 brown and magenta, 3R "tin pot fat"" bl 3 g ""magenta is
awesome"", @ " Awesome"" BT HIS T fﬂTIT?

Options :

1. ¥ fat

2. # pot

3. # kir

4. #* tin

Question Number : 9 Question Id : 60092910766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
XYZ Company has a job position opening. The candidate must

1. Be a graduate in any discipline with 75 per cent marks.
2. Be between 25 and 35 years old as on 05/03/2021.

3. Must have completed CA or CS.

4. Must have knowledge of Excel and Tally.

The following exceptions apply:
A. If a candidate meets all other criteria except 4 above, the candidate will be referred to the Manager.
B. A candidate whose age is more than 35 years but has experience of more than 2 years will be referred to the General Manager.

Arun is working at IDBI Bank for 3 years now. He was born on 5/02/1982. He has completed his CA in 2010. He has done certified courses on
Excel and Tally from NIIT. He did his B.Com (H) from TKM College and scored 80 per cent marks.

What decision should be taken about this candidate?
Options :

1. # The candidate should be selected.

2. # The candidate should be rejected.



3. % The candidate should be referred to the Manager.
4. ¥ The candidate should be referred to the General Manager.

Question Number : 9 Question Id : 60092910766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JWIgaR &1 994 fobar SiH1 aifgu|

2. % JWIGAR Bl Srdidhd HR faar ST A1z

3. % IMICAR &I UdYd BT efid BT ST 21T

4, ¢ AR DI HETUSYH I el fosar ST e |

Question Number : 10 Question Id : 60092910767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six people are standing together in two rows of three each, exactly facing each other. Mohan is not standing at the end of a row but is to the right
of Junaid who is facing Chaman. Kartik is to the left of Das who is facing Mohan. Who is to the immediate left of Barun?

Options :
1. # Junaid



2. % Das
3. % Mohan
4. % Chaman

Question Number : 10 Question Id : 60092910767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g

2. %

3.« Oied

4. % gHq

Question Number : 11 Question Id : 60092910768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, one statement is given, followed by two course of actions, I and II. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given course of actions logically has to be taken.

Statement: Half of the students in a class were caught cheating in the final exam.

Courses of Actions:
I : The culprits should be punished and should be asked to rewrite the exam with a new question paper.
I : That particular exam should be cancelled.

Options :

1. ¥ Only I follows

2. * Only II follows

3. % Both I and II follows
4. % Neither I nor II follows

Question Number : 11 Question Id : 60092910768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ HId | IR0 FRAT §

2. % Had I 3IERU BT §

3. % 1 3R 11 G SER0 R §
4. % 1 3R B 11 SAR0T Il §

Question Number : 12 Question Id : 60092910769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, one statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement: Alcohol is harmful for health.

Conclusion I : One should not drink alcohol.
Conclusion II: People who don't drink alcohol are always healthy.

Options :

1. ¥ Only conclusion I follows
2. % Only conclusion II follows
3. ¥ Both I and II follows

4. # Neither I nor II follows

Question Number : 12 Question Id : 60092910769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Uy § T Sy fear mar g, e a1 gl s 1 3R 11 feu 7w @1 3mues! 37 SUAl &l I A1 8, HA 81 U8 IHRId: J1d a2 3 fie
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Options :

1. ¢ $ad (=B | STERU BT ®

2. % Had HY 11 S0 Bl &

3. % [ 3R 11 ST SFIER0I xal §

4. % F1 3R TE I ST BT §

Question Number : 13 Question Id : 60092910770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a test, a student loses 1 mark for every wrong answer and gains 3 marks for every correct answer. If he attempts all 100 questions and secures
88 marks, how many questions did he answer correctly?

Options :
1. ¥ 47
2. % 53
3. % 58
4. % 68

Question Number : 13 Question Id : 60092910770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 47

2. % 53




3. % 58
4. %= 68

Question Number : 14 Question Id : 60092910771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % 821
2. % 887
3. % 953
4. ¥ 978

Question Number : 14 Question Id : 60092910771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Tt foeweal A @ & e R % @ THH 81 gTdiTe, T faded 3/ diF ot aRE Tl ¢ | 39 fached o1 Iu- 3 oY 30 ¥ 3T 8|
Options :

1. % 821

2. % 887

3. % 953

4. ¥ 978

Question Number : 15 Question Id : 60092910772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between earth, moon and sun?
Options :



Question Number : 15 Question Id : 60092910772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & § & 91 9 oM Jdl, 9501 3R T & i & JaY BT o 3BT i1 Bl 82

Options :



Question Number : 16 Question Id : 60092910773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given figure, some numbers belong to one figure only, some belong to two figures only and some belongs to three figures only. Find the
sum of the numbers which belongs to two figures only.



Options :
1. % 19
2. %20
3.% 12
4.9 16

Question Number : 16 Question Id : 60092910773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 19
2. %20
3.% 12
4.9 16



Question Number : 17 Question Id : 60092910774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

2.¥




[

Question Number : 17 Question Id : 60092910774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

2.¥




3. ®

[

Question Number : 18 Question Id : 60092910775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures completes the question figure?

Options :

BN




2.¢

Question Number : 18 Question Id : 60092910775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # 3 P W SR 3MHia U 3P B IRT Bl 372

Options :



Question Number : 19 Question Id : 60092910776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the maximum number of triangles in the given figure.



Options :
1. % 12
2. % 11
3.4 10
4, %9

Question Number : 19 Question Id : 60092910776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 71E 3nepfa § Bryel @ ifdiedy T= 91d R |

Options :
1. % 12



2. % 11
3.410
4. %9

Question Number : 20 Question Id : 60092910777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the alternative which will exactly form the question figure (X)?

®

(X)
Options :

111
O

e I

1. ¢

1
O




Question Number : 20 Question Id : 60092910777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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= &
i

= O
3. % O ””

1

® -—-
4. %
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Question Number : 21 Question Id : 60092910778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lotia folk music is sung in the month of

Options :

1. ¥ chaitra
2. * phalgun
3. % paush
4. * magh

in Rajasthan.
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Question Number : 21 Question Id : 60092910778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aifear die diid o | & HgH T T A 6|
Options :

1.V o

2. % BIAA

3. % O

4. % HY

Question Number : 22 Question Id : 60092910779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following monuments was not built by Mughal Emperor Shah Jahan?
Options :

1. # Taj Mahal

2. # Red Fort

3. % Buland Darwaza

4. # Jama Masjid

Question Number : 22 Question Id : 60092910779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & & S 91 RS Gid JUIC /S Tel gRT o1 S+ 7T 412
Options :

1. # divfHgd

2. % el fobel

3. ¥ g aXdll

4. % STHT ARG



Question Number : 23 Question Id : 60092910780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

refers to the rate at which commercial banks borrow money by selling their securities to Reserve Bank of India (RBI) to maintain
liquidity, in case of shortage of funds or due to some statutory measures.

Options :

1. #* Bank rate

2. ¥ Repo rate

3. # Repo Reverse rate
4. # Cash Reserve Ratio

Question Number : 23 Question Id : 60092910780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I R B! Yehid Hal g For R afifu® d& o= &1 HH 31 $& dUTHS IUTl & HRUI, THa b0l §-1E W & g
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Options :

1. % §e R

2. /XA W

3. % W g a”

4. % Jehq RIE SIUTd

Question Number : 24 Question Id : 60092910781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, the budget outlay for Health and Wellbeing saw an increase of as compared to 2020.
Options :

1. ¥ 137%

2. % 112%

3. % 156%

4. % 118%



Question Number : 24 Question Id : 60092910781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 % §olc H BIV0T & SR, WY Td Hedul & g aofe aikeqd & 2020 &1 ga1 o D1 gfg = TR
Options :

1. ¥ 137%

2. % 112%

3. % 156%

4. % 118%

Question Number : 25 Question Id : 60092910782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an example of electromagnetic waves?
Options :

1. # Cathode Rays

2. % Canal Rays

3. ¥ X-Rays

4. % Ultrasonic Rays

Question Number : 25 Question Id : 60092910782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 o fAggada® g aill 1 3aIexul 82
Options :

1. % pUrs fHol

2. % e fopvol

3. ¢ THRIX

4. % JecI® fHu]

Question Number : 26 Question Id : 60092910783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following belongs to Phanerogamia group?
Options :

1. # Thallophyta

2. % Bryophyta

3. # Pteridophyta

4. ¥ Angiosperm

Question Number : 26 Question Id : 60092910783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 SF SRR 91g 3 Hafid 52
Options :

1. % YAIBISer

2. % STATBISCT

3. % CRSIHISel

4. ¢ 3qAsTSI

Question Number : 27 Question Id : 60092910784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following peaks is also known as "Temple of God'?
Options :

1. # Trisul I

2. % Kamet

3. ¥ Nanda Devi

4. ¥ Hardeol

Question Number : 27 Question Id : 60092910784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefaa @ifeal & J fd e & |y & a8+ ST ofrar 82




Options :

1. % Brer1
2. % PHHC

3. % Hgrad!
4. BT

Question Number : 28 Question Id : 60092910785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Guwahati is situated on the banks of which of the following rivers?
Options :

1. % Kaveri

2. ¥ Mahanadi

3. ¥ Brahmaputra

4. % Yamuna

Question Number : 28 Question Id : 60092910785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TareTe! Fafafed # 9 fbg 7dt & fbR fRua 82

Options :
1. % P
2. % HgHC
3. ¢ dglgd
4. % AT

Question Number : 29 Question Id : 60092910786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prarthana Samaj was established by Atmaram Pandurang in 1867 at

Options :



1. # Poona

2. % Madras
3. % Bombay
4. # Calcutta

Question Number : 29 Question Id : 60092910786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR UG GRT UTHT THTS D1 RITIAT 1867 H ek
Options :

1. % G-l

2. % Halq

3. ¥ 998

4. % hcldhdl

Question Number : 30 Question Id : 60092910787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the Second World War begin?
Options :

1. % 1939

2. % 1935

3. % 1942

4. % 1948

Question Number : 30 Question Id : 60092910787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgdld fay g o = g3

Options :

1. % 1939



2. % 1935
3. % 1942
4. % 1948

Question Number : 31 Question Id : 60092910788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In 1539, Sher Shah defeated Humayun in the Battle of
Options :

1. # Peshawar
2. # Chanderi
3. % Ghaghra
4. ¥ Chausa

Question Number : 31 Question Id : 60092910788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1539 H, IR MG A & g U g &l g
Options :

1. % URMR

2. % Fqdl

3. % YR

4. I

Question Number : 32 Question Id : 60092910789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sunny Days' is an autobiography of which of the following cricketers?
Options :

1. * Imran Khan

2. % Wasim Akram



3. * Brian Lara
4. % Sunil Gavaskar

Question Number : 32 Question Id : 60092910789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T So Fafoiad o 9 ford fhdhex BT ST 87
Options :

1. # S Y

2. % g 3HH

3. % SO dRT

4. & AT TR

Question Number : 33 Question Id : 60092910790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the Filmfare Award 2021 for Best Actor in a supporting role (female)?
Options :

1. ¥ Farrukh Jaffar

2. % Maanvi Gagroo

3. # Neena Gupta

4. ¥ Richa Chadha

Question Number : 33 Question Id : 60092910790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o 9 forem Tere YT [@fedn) H ags ST & iy fheThar RIBR 2021 S
Options :

1. ¢ T \th}

2. % HHA RS

3. % 1w




4. % FAT A

Question Number : 34 Question Id : 60092910791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Punjab Cabinet approved a hike in financial assistance under the Ashirwad scheme from Rs 21,000 to per beneficiary in April
2021.

Options :

1. % Rs 60,000
2. % Rs 34,000
3. ¥ Rs 51,000
4. % Rs 45,000

Question Number : 34 Question Id : 60092910791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSl HiEHS S 3 3 2021 § 3mRfiale Aiei & dgd faxia Jgrar & ufa el 21,000 Tuw d DI Fglaxl bl Aol ol
Options :

1. % 60,000 ¥4UQ

2. % 34,000 %4

3. % 51,000 ®4UUQ

4. % 45,000 %UC¢

Question Number : 35 Question Id : 60092910792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

World Trade Centre signed Memorandum of Understanding with which of the following states to promote and facilitate trade and investment in
the state?

Options :

1. # West Bengal
2. ¥ Haryana

3. % Kerala



4. % Karnataka

Question Number : 35 Question Id : 60092910792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g’iwéﬁﬁwﬁwamﬁémﬁmﬁﬁwwﬁ%ﬁﬁaﬁr@aﬁ@r%w%mm@mwwmﬂ
o

Options :

1. * fgw S

2. ¥ giamn

3. % B

4. % HAlcd

Question Number : 36 Question Id : 60092910793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following inaugurated the first bi-annual Indian Air Force Commanders' Conference 20217
Options :

1. ¥ Rajnath Singh

2. % Amit Shah

3. # Narendra Modi

4. # Piyush Goyal

Question Number : 36 Question Id : 60092910793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & 9 forem uga fg-arftfe WRdTa arg@mT HHieR IWie, 2021 &1 3gure fHan
Options :

1. ¢ oY R

2. % 3ffHd T8

3. % g A



4. % Uy Tad

Question Number : 37 Question Id : 60092910794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following statements is incorrect?

Options :

1. #® Twelfth Schedule contains the powers, authority and responsibilities of Municipalities.
2. ® Ninth Schedule contains provisions as to validation of certain Acts and Regulations.

3. # Seventh Schedule contains the Union list, State list and the concurrent list.

4. ¥ Fifth Schedule contains provisions as to the allocation of seats in the Council of States.

Question Number : 37 Question Id : 60092910794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad # @ & 91 U 7Tad 82

Options :

1. % gRgal I H TRUTfereT3f Pt I, SHfIBR SR foreriat wnfia g
2. % A1t ol B po fAfadl o fafaw & weme= & urauE B

3. % Ta ST o T g, Iy i 3R THad g3t i g

4. TiTa ST H Xrodl & uRwg & et & 3fided & =4 H UrayT e ¢ |

Question Number : 38 Question Id : 60092910795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Parts of the Indian Constitution deals with 'Trade, Commerce and Intercourse within the Territory of India'?
Options :

1. ¢ Part XIII

2. % Part X

3. % Part VI

4. % Part VIII



Question Number : 38 Question Id : 60092910795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Hfayr & FafaRad uil & 9 19 "WRd & &3 § R, aifirsg $iR THARE 3 Heied 82
Options :

1. & HIT X111

2. % HATX

3. % YT VI

4. % YT VIII

Question Number : 39 Question Id : 60092910796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has been appointed as the brand ambassador of Japanese sportswear brand, ASICS in April 2021?
Options :

1. # Rohit Sharma

2. % Mahendra Singh Dhoni

3. % Ravindra Jadeja

4. # Virat Kohli

Question Number : 39 Question Id : 60092910796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & 9 ford oiid 2021 H SO WICHIER §18, ASICS FT 918 TaqeR Fgad forar mar g2
Options :

1. % fga zmi

2. % Hgg g Ut

3. ¢ Rfd=5 SSoll

4. % fa_TC DIl



Question Number : 40 Question Id : 60092910797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries hosted the Laureus World Sports Awards 20217
Options :

1. # United States of America

2. % Russia

3. # United Kingdom

4. ¥ Spain

Question Number : 40 Question Id : 60092910797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied <=1 & I fham aiay 96 Wiey Sargd 2021 & HolaHT H12

Options :
1. % Tgad Iy MRS
2. %Y
3. % gARcS fhren
4. W
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Group Id : 600929347
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Group Marks : 20
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Sub-Section Id : 600929596
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 60092910798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the HCF of the square of 12, cube of 8 and the square of 16.
Options :

1. %2

2.% 4

3. % 8

4. 16

Question Number : 41 Question Id : 60092910798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 T, 8 B T 3R 16 & 97 BT HgTH JHUAAD J1d D
Options :

1. %2

2. % 4

3. %8




4.9 16

Question Number : 42 Question Id : 60092910799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number's square when multiplied by 100 will be exactly divisible by 36, 45 and 50. What is the minimum possible number?
Options :

1.*9

2.%6

3.% 4

4.3

Question Number : 42 Question Id : 60092910799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forft T & vl &I 91d 100 ¥ 70T fordT ST § Y 98 36, 45 3R 50 ¥ guid: fAUTIoId 81T § | gidH THd TRe 31 82
Options :

1. * 9

2.% 6

3.% 4

4.3

Question Number : 43 Question Id : 60092910800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A box of pens and pencils were bought together. The average cost of 16 pens and 9 pencils is Rs 30 while the average cost of 9 pens and 16
pencils is Rs 35. Find the cost of 100 pens and 100 pencils.

Options :

1. * Rs 6000
2. % Rs 6400
3. ¥ Rs 6500
4. * Rs 7000



Question Number : 43 Question Id : 60092910800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HaH 3R URIa o1 fSaa T A1 WIS TAT1 16 HaH 3R 9 URIA BT 3d Jed 30 $UT ¢ Said 9 Had 3R 16 YR BT 3T Jed 35
FUT 1 100 HTH 3R 100 U o1 Jeg 1 B

Options :

1. % 6000 >UUY

2. % 6400 >UU

3. % 6500 >UUQ

4. % 7000 U7

Question Number : 44 Question Id : 60092910801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of a good increases to Rs 1000 after 3 increases. The 1st increase being 11.11%, 2nd being 12.50% and 25% being the 3rd increase.
Find the original price.

Options :

1. % Rs 320
2. ¥ Rs 640
3. % Rs 480
4. % Rs 1000

Question Number : 44 Question Id : 60092910801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh g 1 44 3 G o §1G 1000 TUT BT S 81 12 Gk 11.11%, 2nd i 12.50% AR 3rd ik 25% & | 7o Hedl T1d bR |
Options :

1. % 320>

2. % 640 >UU¢

3. % 480 ®UUd

4. % 1000 >UU



Question Number : 45 Question Id : 60092910802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cube has a side of 4 cm. Smaller cubes of side 1 cm each are carved out of it. How many small cubes have to be carved such that 25% of the
bigger cube is only left?

Options :
1. ® 16
2. % 32
3.9 48
4. % 64

Question Number : 45 Question Id : 60092910802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH YT B 4 cm B BAD ¢ | 3TH J UAP | cm HAD T DI G-I D1 aI=0 A1 8 | fham B g4 1 39 UBR aRI=M ST @ b 98 77 &7
Had 25% Bl AY IE M2

Options :

1. % 16

2. % 3

3.9 48

4. % 64

Question Number : 46 Question Id : 60092910803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The profit percentage on selling an item for Rs 3840 is same as the loss percentage on selling the item for Rs 2560. Find the selling price if the
item is to be sold for a profit of 25%.

Options :

1. ¥ Rs 4000
2. % Rs 3200
3. ®* Rs 3600



4. * Rs 3840

Question Number : 46 Question Id : 60092910803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreit I P 3840 ¥UT H dg- TR 1T AT =T, 2560 FUY H 9 ! oa- TR U B U= & THM g | Al I BT 25% P aH TR T
ST ® <l 39T fasha Jeg 1 |

Options :

1. ¢ 4000 ¥UT

2. % 3200 YU

3. % 3600 U

4. % 3840 3T

Question Number : 47 Question Id : 60092910804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost price of 48 articles is equivalent to the selling price of X articles. If the profit percent is 20%, then find the value of X?
Options :

1. ® 36

2.¥ 40

3. % 42

4. % 45

Question Number : 47 Question Id : 60092910804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

48 TIG3T BT AT T X aXG3N & (9060 T o SRI6R ¢ | IS AT TlA=Td 20% 8, A X BT A I B2
Options :

1. #® 36

2.9 40

3. % 42



4. % 45

Question Number : 48 Question Id : 60092910805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the proportion equivalent to a:b:c:d if a:b = 4:5, b:c = 4:7 and c:d = 8:9.
Options :

1. % 120:160:280:315

2. % 128:160:140:315

3.9 128:160:280:315

4. % 128:160:280:300

Question Number : 48 Question Id : 60092910805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

arbze:d P SRIER YHIIUTT 1A BX TG a:b = 4:5, bic = 4:7 3R c:d = 8:9 § |
Options :

1. * 120:160:280:315

2. % 128:160:140:315

3. ¥ 128:160:280:315

4. % 128:160:280:300

Question Number : 49 Question Id : 60092910806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X and Y together have Rs 4800. If 1/3 of X' amount is equal to 5/9 of Y's amount, then how much does X have?
Options :

1. % Rs 2000

2. % Rs 2400

3. ¥ Rs 2700

4. ¥ Rs 3000



Question Number : 49 Question Id : 60092910806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 3R Y & UMY Teb 1Y ATy 4800 3T S| TS X BT AR BT 1/3, Y B AR P 5/9 B SRR 8, a1 X &b Uy fobait AR 82
Options :

1. % 2000 %Uq

2. % 2400 >UU

3. % 2700 U

4. % 3000 >UU

Question Number : 50 Question Id : 60092910807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs 3600 was invested in banks X and Y at the rates of 10% simple interest and 15% compound interest respectively. Find the interest received in
the 2nd year if the interest received in the Ist year from the two banks differed by Rs 390.

Options :

1. % Rs 527.50
2. % Rs 533.33
3. # Rs 566.67
4. ¥ Rs 577.50

Question Number : 50 Question Id : 60092910807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g X 3R Y T HHRT: 10% TR AT 3R 15% Thgig SIS DI a2 H 3600 $UT BT o foar 7 o711 afe gl §bl § 13 as & o
TS H 390 ¥UU 6T 3R 7, A1 23 a8 H YT ST J1d B |

Options :

1. % 527.50>4U

2. % 53333 J0Q

3. % 566.67 SUY

4.+ 577.50 34U



Question Number : 51 Question Id : 60092910808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the simple interest on Rs. 1400 at 5% per annum and on Rs. 3200 at 8% per annum and on Rs. 1200 at 6% per annum for 2 years.
Options :

1. % Rs 398

2. % Rs 597

3. ¥ Rs 796

4. % Rs 1194

Question Number : 51 Question Id : 60092910808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 8 & form ufd avf 506 T 1400 FUT 3R Ufd a8 89% 3200 FUT 3R Ufd T 6% F 1200 FUT TR JILROT AT J1d B |
Options :

1. % 398 %00

2. % 59700

3. ¥ 796 >UU

4. % 119430

Question Number : 52 Question Id : 60092910809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two cars travel at speeds of 150 kmph and 200 kmph. They start from the same point and go in opposite directions. After two hours, the speed of
the first car increases by 20% and that of the second car increases by 50%. Find the distance between them at end of 4 hours.

Options :

1. % 1510 kms
2. % 1560 kms
3. % 1610 kms
4. ¥ 1660 kms



Question Number : 52 Question Id : 60092910809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eﬁﬁ150kmph3ﬁT200kmphﬁTﬁﬁqﬁTav_\’_€ﬁ%|awzﬁﬁg I[E IR & AR [Toia fazmast # Sd €1 & 9¢ & 91, Ugal &R Pi
T & 20% B e BIch & SR GO PR BT I H 50% B Ifes oIl 61 4 B¢ & 3 H I s DI g2 1 PR

Options :

1. # 1510 kms

2. % 1560 kms

3. % 1610 kms

4. ¥ 1660 kms

Question Number : 53 Question Id : 60092910810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 cars are at a distance of 400 km from each other. The speeds of Car A and Car B are 50 kmph and 55 kmph respectively. Car A starts at 6 AM
and Car B starts at 7 AM. At what time will they meet each other?

Options :

1. # 10:00 AM
2. % 10:20 AM
3. % 10:30 AM
4. % 10:40 AM

Question Number : 53 Question Id : 60092910810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 BN TH I T 400 km B g W & BR A 3R R B B 1A HH: 50 kmph 3R 55 kmph 81 FR A 6 JaTg L= &It § SIRBR B 7
yafE T eI 813 T o &) fov o e

Options :

1. % 10:00 Ydig

2. ¥ 10:20 [dT&

3. % 10:30Ydig

4. % 10:40 Qdlg




Question Number : 54 Question Id : 60092910811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X and Y can do a work in 20 and 30 days respectively. After 6 days of working together, X dropped out and Y had to continue all by himself.
How many days will Y take to finish the remaining work?

Options :
1. ® 18
2. % 12
3. % 135
4.9 15

Question Number : 54 Question Id : 60092910811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 3R Y Th B bl HHI: 20 3R 30 f&7i § R bd 81 6 &l db Tp 1Y HTH B & dIc, X B Dl BIS a1 8 3R Y Bl 3hd gl
O} T ST € | A9 B B R HRA T Y ! oA g @i

Options :

1. % 18

2. % 12

3. % 135

4.9 15

Question Number : 55 Question Id : 60092910812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C can do a work together in 96 hours. A and B can do it 144 hours while B and C can do it 160 hours. In how many hours can C do the
work alone?

Options :
1. % 144
2. % 192
3. ¥ 288



4. %= 320

Question Number : 55 Question Id : 60092910812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,B3RCUS U B B 96T H PR Tbhd &l A 3R B I 144 1 H B Jobd € iaid B 3R C 3 160 ¢ A B bd 8| C 3 39
& ® fa O § B goba g2

Options :

1. % 144

2. % 192

3. ¢ 288

4. % 320

Question Number : 56 Question Id : 60092910813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the length of the wire if 66 cu cm of a wire is drawn into another wire of 4 mm in diameter?
Options :

1. % 2.625m

2.% 525m

3. % 7.875m

4. % 10.5m

Question Number : 56 Question Id : 60092910813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁ@ﬁ%ﬂ%@@ﬂﬁ%% cu cmﬁ4mmm$@mﬁme%7
Options :

I. # 2.625m

2.9 525m

3. % 7.875m

4. % 10.5m



Question Number : 57 Question Id : 60092910814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cuboid of measurements 81 cm, 64 cm and 9 cm is melted to form smaller cubes of size 12 cm each. Find the number of small cubes so
formed.

Options :
1. %9
2. % 18
3.¥27
4. % 36

Question Number : 57 Question Id : 60092910814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

81 cm, 64 cm 3R 9 cm ATY P TP GATH B FUGATDR 12 cm PR & BT I U T 8 | 39 UHR 54 DI I1 b1 I-AT J1d B |
Options :

1. %9

2. % 18

3. 27

4. % 36

Question Number : 58 Question Id : 60092910815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table shows the various marks obtained by students in different subjects along with the maximum marks for each subject. In which subject
have the students scored the lowest average percentage?



Subject & Max. Marks
Student Maths English Hindi History Geography
150 100 125 75 25

a 133 17 121 52 22
B 134 L] 105 65 25
C 130 66 92 50 25
D 113 59 BO [21] 13
E 112 57 76 56 20
F 11 53 76 60 22

Options :

1. ¥ English

2. # Hindi

3. # History

4. ® Geography

Question Number : 58 Question Id : 60092910815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qTfereT Yde fawg & forg siftieraw siebT & -y fafiret fawal  Se gR1 v fafe sieel &1 a8 1 ford fawa & Sl = ggan
3N Ufa=Td vred faan g2

farag ofy aifirram i
B o et f&dt Fhow e
150 100 125 75 25
A 138 7 121 52 22
B 134 ] 105 65 25
c 130 b6 a2 50 5
D 113 50 80 60 18
E 112 57 76 56 20
F 111 53 6 60 22
Options :
1. ¢ 3T

2. % fgdt




3. % gfde™
4. % Md

Question Number : 59 Question Id : 60092910816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The histogram shows the number of students scoring marks in different ranges, the highest marks being 100. What proportion of students have
passed the exam if the passing marks were 40%?

120 -

100

MNumber of students
Z

19 and less 39 and less 59 and less 79 and less 100 and less
Marks

Options :
1. % 88%
2. % 92%
3. % 34%
4. ¥ 70%

Question Number : 59 Question Id : 60092910816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Srrater fafia AT & oic UTed H3 a1 S &1 RS DI SRl 5, STAH 3 100 & | IS ITHUL 3 40% &, A BE & fbd= GaRUTT
A T Il B g2
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Options :
1. % 88%
2. % 92%
3. % 34%
4. ¥ 70%

Question Number : 60 Question Id : 60092910817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The frequency polygon shows the exports (in $ billion) of three countries for different years. In which year is the exports equal to the average
exports by the 3 countries in all of the years?



==—Country X -=CountryY -=—Countryl

Annual Exports (in 5 billion)
SEELEL

2015 2016 2017 2018 2019 2020

Year

Options :
1. % 2017
2. % 2018
3. % 2019
4. v 2020

Question Number : 60 Question Id : 60092910817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ® 2017
2. % 2018
3. % 2019
4. % 2020
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Question Number : 61 Question Id : 60092910818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

It is therefore not a criteria that can do justice to the principles of Wagner's non-symphonic art, for its.
Options :

1. ¥ It is therefore not a criteria that

2. % can do justice to the principles of

3. ¥ Wagner's non-symphonic art, for its.

4. ¥ No error

Question Number : 61 Question Id : 60092910818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

It is therefore not a criteria that can do justice to the principles of Wagner's non-symphonic art, for its.
Options :

1. % It is therefore not a criteria that



2. % can do justice to the principles of
3. % Wagner's non-symphonic art, for its.
4. % No error

Question Number : 62 Question Id : 60092910819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

She was surprised to see three people within, none of who looked like they fit in the refined, elegant spaces of the parlour.
Options :

1. #¥ She was surprised to see three people within,

2. % none of who looked like they fit in the

3. % refined, elegant spaces of the parlour.

4. % No error

Question Number : 62 Question Id : 60092910819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

She was surprised to see three people within, none of who looked like they fit in the refined, elegant spaces of the parlour.
Options :

1. # She was surprised to see three people within,

2. ¥ none of who looked like they fit in the

3. % refined, elegant spaces of the parlour.

4. % No error

Question Number : 63 Question Id : 60092910820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

They seemed frightened, (though chirped softly, as if they knew they were safe).
Options :

1. # although chirped softly, as if they knew they were safe

2. ¥ but chirped softly, as if they knew they were safe

3. # still chirped softly, as if they knew they were safe

4. # No correction required

Question Number : 63 Question Id : 60092910820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

They seemed frightened, (though chirped softly, as if they knew they were safe).
Options :

1. # although chirped softly, as if they knew they were safe

2. ¥ but chirped softly, as if they knew they were safe

3. # still chirped softly, as if they knew they were safe

4. ® No correction required

Question Number : 64 Question Id : 60092910821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Both the countess and Sonya understood that, naturally, (neither Moscow or the burning of Moscow nor anything else could seem of importance
to Natasha).

Options :
1. ¥ neither Moscow nor the burning of Moscow nor anything else could seem of importance to Natasha

2. % neither Moscow or the burning of Moscow nor anything else could seemingly be important to Natasha



3. % neither Moscow nor the burning of Moscow or anything else could seemingly be important to Natasha

4. ® No correction required

Question Number : 64 Question Id : 60092910821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Both the countess and Sonya understood that, naturally, (neither Moscow or the burning of Moscow nor anything else could seem of importance
to Natasha).

Options :

1. ¥ neither Moscow nor the burning of Moscow nor anything else could seem of importance to Natasha

2. # peither Moscow or the burning of Moscow nor anything else could seemingly be important to Natasha
3. # neither Moscow nor the burning of Moscow or anything else could seemingly be important to Natasha

4. ® No correction required

Question Number : 65 Question Id : 60092910822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Under the , a large number were killed, and between four and five millions of Protestants left the country.
Options :

1. ¢ persecution
2. % compunction
3. # restitution

4. ® rescission

Question Number : 65 Question Id : 60092910822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.



Under the , a large number were killed, and between four and five millions of Protestants left the country.
Options :

1. ¥ persecution
2. # compunction
3. % restitution

4, % rescission

Question Number : 66 Question Id : 60092910823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The dictator enriched himself but his people.

Options :

1. # pardoned
2. # proliferated
3. # cleaved

4. ¥ impoverished

Question Number : 66 Question Id : 60092910823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The dictator enriched himself but his people.

Options :

1. # pardoned
2. % proliferated
3. % cleaved

4. ¥ impoverished

Question Number : 67 Question Id : 60092910824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

It is generally held that Babur’s guns proved decisive in battle, firstly because Ibrahim Lodi lacked any field artillery, but also because the sound
of the cannon frightened Lodi’s elephants, causing them to trample Lodi’s own men.

P. The Left and Right divisions were further subdivided into Forward and Rear divisions.

Q. Tulughma meant dividing the whole army into various units, viz. the Left, the Right and the Centre.

R. The new war tactics introduced by Babur were the tulughma and the araba

S. However a reading of the contemporary sources show that more than the gun, it was the tactics which helped in winning the day.

Through this a small army could be used to surround the enemy from all the sides.
Options :

1. % QPSR

2. ® RQPS

3. % PSQR

4. ¥ SRQP

Question Number : 67 Question Id : 60092910824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

It is generally held that Babur’s guns proved decisive in battle, firstly because Ibrahim Lodi lacked any field artillery, but also because the sound
of the cannon frightened Lodi’s elephants, causing them to trample Lodi’s own men.

P. The Left and Right divisions were further subdivided into Forward and Rear divisions.

Q. Tulughma meant dividing the whole army into various units, viz. the Left, the Right and the Centre.

R. The new war tactics introduced by Babur were the tulughma and the araba

S. However a reading of the contemporary sources show that more than the gun, it was the tactics which helped in winning the day.

Through this a small army could be used to surround the enemy from all the sides.
Options :
1. # QPSR



2. % RQPS
3. % PSQR
4. ¥ SRQP

Question Number : 68 Question Id : 60092910825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Decorum
Options :

1. ¥ Impropriety
2. % Couth

3. # Dignity

4, % Protocol

Question Number : 68 Question Id : 60092910825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Decorum
Options :

1. ¥ Impropriety
2. # Couth

3. # Dignity

4. % Protocol

Question Number : 69 Question Id : 60092910826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below



Abortive

Options :

1. ¥ Hopeful

2. % Fearful

3. % Successful
4. % Disrespectful

Question Number : 69 Question Id : 60092910826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Abortive

Options :

1. % Hopeful

2. # Fearful

3. % Successful
4. # Disrespectful

Question Number : 70 Question Id : 60092910827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Infalible

2. # Infalable

3. % Infallible

4. # Infalliable

Question Number : 70 Question Id : 60092910827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Infalible

2. # Infalable

3. % Infallible

4. # Infalliable

Question Number : 71 Question Id : 60092910828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. #* Pilanthropist

2. % Philanthropist

3. # Philantropist

4. % Philahntropist

Question Number : 71 Question Id : 60092910828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Pilanthropist

2. % Philanthropist

3. % Philantropist

4. # Philahntropist

Question Number : 72 Question Id : 60092910829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



Narrow-minded

Options :

1. ¥ Not willing to accept the ideas of others
2. % To keep quiet, To say nothing

3. # Nonsense or meaningless speech

4. ® Approximately, almost, somewhat, to a certain degree

Question Number : 72 Question Id : 60092910829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Narrow-minded

Options :

1. ¥ Not willing to accept the ideas of others
2. % To keep quiet, To say nothing

3. # Nonsense or meaningless speech

4. ® Approximately, almost, somewhat, to a certain degree

Question Number : 73 Question Id : 60092910830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Knock on Wood

Options :

1. ¥ Knuckle tapping on wood in order to avoid some bad luck

2. # An introduction phrase to let the audience know that the last person mentioned is also very important
3. # To politely ask for someone’s full attention

4. # To understand the details

Question Number : 73 Question Id : 60092910830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Knock on Wood

Options :

1. ¥ Knuckle tapping on wood in order to avoid some bad luck

2. % An introduction phrase to let the audience know that the last person mentioned is also very important
3. # To politely ask for someone’s full attention

4. # To understand the details

Question Number : 74 Question Id : 60092910831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

An area within which someone or something has authority, influence, or knowledge
Options :

1. # Vicinity

2. # Lagoon

3. # Hinterland

4. ¥ Purview

Question Number : 74 Question Id : 60092910831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

An area within which someone or something has authority, influence, or knowledge
Options :

1. # Vicinity

2. # Lagoon

3. % Hinterland

4. ¥ Purview



Question Number : 75 Question Id : 60092910832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

An action of regaining or gaining possession of something in exchange for payment, or clearing a debt
Options :

1. # Blasphemy

2. ® Gambit

3. ¥ Atonement

4. ¥ Redemption

Question Number : 75 Question Id : 60092910832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

An action of regaining or gaining possession of something in exchange for payment, or clearing a debt
Options :

1. % Blasphemy

2. % Gambit

3. % Atonement

4. ¥ Redemption

Sub-Section Number : 2
Sub-Section Id : 600929598
Question Shuffling Allowed : Yes

Question Id : 60092910833 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.



What's fiercer than a lion but smaller than a beagle? The honey badger, one of the toughest mammals in Africa and western Asia. Honey badgers
stand less than a foot high. They are only a couple feet long. They weigh just over 20 pounds. Yet they have a reputation for toughness that is far
greater than their size. Some honey badgers will chase away lions and take their kills. I guess that goes to show you that size isn't the only thing
that matters in a fight.

So, what makes the honey badger so tough? They have speed, stamina, and agility, but so do many animals. They aren't stronger than lions, so
how do they stop them? The thing that sets the honey badger apart is their skin. Their skin is thick and tough. Arrows, spears, and bites from
other animals can rarely pierce it. Small bullets can't even penetrate it. Not only is their skin thick and tough, it is also loose. This allows them to
twist and turn to attack while another animal is gripping them. The only safe grip one can get on a honey badger is on the back of their necks.

Honey badgers have long, sharp claws. These claws are good for attacking and even better for digging. Honey badgers are some of nature's most
skilled diggers. They can dig a nine-foot tunnel into hard ground in about 10 minutes. They love to catch a meal by digging up the burrows of
frogs, rodents, and cobras. They also use their digging skills to create their homes. They live in small chambers in the ground and defend them
fiercely. They will attack horses, cows, and even water buftalo if they are foolish enough to poke around a honey badger's den.

Sub questions

Question Number : 76 Question Id : 60092910834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What character trait are Honey Badgers known for?
Options :

1. % Size

2. # Strength

3. % Toughness

4. # Cunning

Question Number : 77 Question Id : 60092910835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What physical quality makes honey badgers so tough?
Options :

1. # Their speed

2. # Their Stamina

3. #® Their Agility

4. ¥ Their skin



Question Number : 78 Question Id : 60092910836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which part of the honey badger is most vulnerable?
Options :

1. # Front for their neck

2. ¥ Back of their neck

3. % Their back

4. ® Their skull

Question Number : 79 Question Id : 60092910837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. # Although small in size honey badgers are very tough and fierce.

2. # Honey badgers" skin is very difficult to pierce

3. % Honey badgers are natural diggers and can dig a 9 foot tunnel in about 10 minutes.

4. ¥ Honey badger is most vulnerable at the front of his neck, i.e. at his throat.

Question Number : 80 Question Id : 60092910838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what does the line " I guess that goes to show you that size isn't the only thing that matters in a fight" infer?
Options :

1. ¥ The line is reference to the size of honey badgers, even with their size they are one of the toughest mammals out there.

2. # The line is in reference to the predatory chain in Africa and western Asia.

3. % The line is in reference to smaller animals in Africa and western Asia which despite its size are highly dangerous.

4. ® The line is in reference to the size of the lion inferring its natural predatory nature.

Question Id : 60092910833 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

What's fiercer than a lion but smaller than a beagle? The honey badger, one of the toughest mammals in Africa and western Asia. Honey badgers
stand less than a foot high. They are only a couple feet long. They weigh just over 20 pounds. Yet they have a reputation for toughness that is far
greater than their size. Some honey badgers will chase away lions and take their kills. I guess that goes to show you that size isn't the only thing
that matters in a fight.

So, what makes the honey badger so tough? They have speed, stamina, and agility, but so do many animals. They aren't stronger than lions, so
how do they stop them? The thing that sets the honey badger apart is their skin. Their skin is thick and tough. Arrows, spears, and bites from
other animals can rarely pierce it. Small bullets can't even penetrate it. Not only is their skin thick and tough, it is also loose. This allows them to
twist and turn to attack while another animal is gripping them. The only safe grip one can get on a honey badger is on the back of their necks.

Honey badgers have long, sharp claws. These claws are good for attacking and even better for digging. Honey badgers are some of nature's most
skilled diggers. They can dig a nine-foot tunnel into hard ground in about 10 minutes. They love to catch a meal by digging up the burrows of
frogs, rodents, and cobras. They also use their digging skills to create their homes. They live in small chambers in the ground and defend them
fiercely. They will attack horses, cows, and even water buftalo if they are foolish enough to poke around a honey badger's den.

Sub questions

Question Number : 76 Question Id : 60092910834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What character trait are Honey Badgers known for?
Options :

1. # Size

2. % Strength

3. % Toughness

4. % Cunning

Question Number : 77 Question Id : 60092910835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What physical quality makes honey badgers so tough?
Options :

1. # Their speed



2. % Their Stamina
3. % Their Agility
4. ¥ Their skin

Question Number : 78 Question Id : 60092910836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which part of the honey badger is most vulnerable?
Options :

1. # Front for their neck

2. ¥ Back of their neck

3. % Their back

4. ® Their skull

Question Number : 79 Question Id : 60092910837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. # Although small in size honey badgers are very tough and fierce.

2. # Honey badgers" skin is very difficult to pierce

3. % Honey badgers are natural diggers and can dig a 9 foot tunnel in about 10 minutes.

4. ¥ Honey badger is most vulnerable at the front of his neck, i.e. at his throat.

Question Number : 80 Question Id : 60092910838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what does the line " I guess that goes to show you that size isn't the only thing that matters in a fight" infer?
Options :

1. ¥ The line is reference to the size of honey badgers, even with their size they are one of the toughest mammals out there.

2. # The line is in reference to the predatory chain in Africa and western Asia.

3. % The line is in reference to smaller animals in Africa and western Asia which despite its size are highly dangerous.

4. ® The line is in reference to the size of the lion inferring its natural predatory nature.
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Question Number : 81 Question Id : 60092910839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol 7 @ 39 fdehey &1 9u= &3 off fou U IfY-fawde Wsg & Ie! IfY &1 fdsheu 3|




31Y: +7TfdY
Options :

1. % 37eATCH
2. % U
3. ¢ YN
4. % 3fYAfd

Question Number : 81 Question Id : 60092910839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasmeul § O 39 faseu o1 g4 &3 o fou U TfY-fowde wisg & T8l IfY &1 fasweu 3|
3Y: T

Options :

1. % 3T

2. % S{YGIT
3. ¢ NI
4. % 3T

Question Number : 82 Question Id : 60092910840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fawred &1 79 o3 off 3T 7 TfY Trse & Tet IfY-fa=ye o1 faweu g
GG

Options :

1. ¥ Qi +THuT
2. % T +S90M
3. % T +UyoT
4. % WIPT + UHOT



Question Number : 82 Question Id : 60092910840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fameal & Q 39 fared &1 79 &3 off T 7T TfY Tisg & et IfY-a=dg o1 fdweu g
MG

Options :

1. ¢ Qi +THOT
2. % T +3HOM
3. % ofidh +TyuT
4. % Q1P + THOT

Question Number : 83 Question Id : 60092910841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g el § A 39 ey &1 994 B o gAY Wee 1 9 RAveu 781 2 |

dRT
Options :
1. ¢ UId
2. % F&A
3. % 3g
4, % Aqdid

Question Number : 83 Question Id : 60092910841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & Q 39 farey &1 9u o3 off garif 2reg &1 I8t faweu T8I 3 |

dRT
Options :
1. ¥ Uid




2. % A&7

3. % 3g
4. % aRd

Question Number : 84 Question Id : 60092910842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 5, 9R fawedl § 3 39 fdded &1 909 o Sl HIgs H QU T st & S8R Mygards G- &1 Jad 301 fddhed g |
Options :

1. % (JWRI)HTS HEI gl g ?

2. % S BT HAT |

3. % T 3O HTH( W) HRAT§

4. xHf Sft T TR T8) T (@®) € |

Question Number : 84 Question Id : 60092910842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafad uy §aR el & § 39 fadbey o1 70 &3 Sl P 7 3T T e F IR Ferdrads Td-TH &7 Jod 31 fdbe g |
Options :

1. % (%R )HTS HEIaAT g ?

2. % S BT )HAT |

3. % T 3UHI HIH( W) IRAT R

4. 1 Sft T TR T8) T (@9) € |

Question Number : 85 Question Id : 60092910843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o faehedl & 9 39 faehey o1 98- B Wil f3U U Wed -t &1 Xeg 1 g1 314 dTell faehed B

S cl-3YcT
Options :




1. % HHA e
2. % TR

3. ¢ HHA, TR
4. % TR A

Question Number : 85 Question Id : 60092910843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
79 famedl § ¥ 39 faded 1 99 &< ol 3T U Weg -gH &1 Xeq &I ol 37 arel fdewed g

JUI-3Ucd
Options :

1. % HHA odic
2. % TR

3. ¥ HHA, R
4. % URR A

Question Number : 86 Question Id : 60092910844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fashey &1 9u &3 off faT TT areiei & e U Xeq &1 98} fasheu 3
S =TT &Y 33 YBR I ST &-

Options :

1. ¢ %

2. % GOl
3, % gLl
4. % ggaH

Question Number : 86 Question Id : 60092910844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9 ol & @ 39 fdshey &1 9u &3 off AT U areiei & foiu U Xeq; &1 98! fasheu g
S =TT &Y 33 YBR I ST 6-

Options :

1. ¢ Jaie
2. % IHAl
3. % Il
4. % JrgaH

Question Number : 87 Question Id : 60092910845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fashey &1 9u 3 off AT U faaH Wsg &1 Tt faded g
ey

Options :

1. % paY
2. v gAY
3. % 3fdly
4. % goH

Question Number : 87 Question Id : 60092910845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fashe &1 9u 3 o foT TU faaH Ysg &1 T8t fadey g
eIy

Options :

1. % HaIY
2. v gAY
3. % 3dy

4. % goH



Question Number : 88 Question Id : 60092910846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o TR fadeul ¥ 3 e fadwed &1 99 &3 ot Rad RIM & fore Iuded Wee &1 T&! fawed g
gy A A [P REST |

Options :

1. % g1
2. % o'l

3. ¢ e[l
4. % THgdrdm

Question Number : 88 Question Id : 60092910846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy & aR fawedl ¥ 39 &1 fadmed &1 994 & S Rad M & i Swiad Wee &1 et faded g
JYHEA A dd fbd RS |

Options :

1. ® g
2. % oI

3. ¢ e[l

4. % ThgIaRIT

Question Number : 89 Question Id : 60092910847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faeeal & I I fashey &1 79 o3 off 12T 77U a1 & forg It We &1 faweu g
a8l U BleT 1 Tifa U7 e IRY 3R Siret o7 |

Options :



1. # fayFarae® a1
2. % WA qTH

3. % JYId aI

4. ¢ oY a1

Question Number : 89 Question Id : 60092910847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 faswed &1 9o &3 off fou T8 a1 & fore gt 9 &1 fawey g

q81 U BICT AT 711G U7 forgas IRY 3R SiTa o7 |
Options :

1. % fqyMaras dIR

2. % A IR

3. % ggod die

4.« fog are

Question Number : 90 Question Id : 60092910848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdcheu &1 9u= 3 o foT T8 a1e & o uel & W &1 I 331 fash ey g
9 DI o ¢ 1@l § |

Options :

1. ¢ GAdD
2. % Agdred®
3. % gfaeide
4. % RYYdH

Question Number : 90 Question Id : 60092910848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



7 ol & @ 39 fdshey &1 9u= B3 o faT T8 a1e & o uel & W &1 I 331 fashed g
9 DI oF & 1@l § |

Options :

1. ¢ AP
2. % Agdrede
3. % gfaeide
4. % IRYYdH

Question Number : 91 Question Id : 60092910849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & I 39 faswed &1 999 &3 off iU 78 a1e & forg 3Ry & e o1 o 3T fahed | |
ERERNCES

Options :

1. % YT
2. ¢ faemdd

3. % g
4. % Jpard

Question Number : 91 Question Id : 60092910849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl § O 39 fadwed o1 9g & o 3T T4 areg & forg gt & He &1 Ja 33T fadheu g |
T A |

Options :

1. % yraard
2.« faemd

3. % Hegrd
4. % Gopard



Question Number : 92 Question Id : 60092910850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fache &1 9a B3 off foT TU Aeifaa &1 Tgt 31 arer faswseu g

T T 7 TRE IUR

Options :

1. % YFET ST

2. ¢ S AT vt oiTe gt 3Rt B
3. % 49 Y YT HHMT

4. % @ B H g BMT

Question Number : 92 Question Id : 60092910850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 34 fashe &1 98 3 off AU U Aeifaa &1 gt 31 arer faswsey g

T TG 7 IRE SUR

Options :

1. % HIT ST

2. ¢ S I i oY 98t 3t §
3. % Y9 Y HHMT

4. % Tl B H BT gl

Question Number : 93 Question Id : 60092910851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # O 39 oy o1 Ta &1 il 73U 70 gerar &1 wet orf arel fawed g
ool 91 feam

Options :



IR ANEIEEINEISERG]
2. % HWT BT

3. % R M

4. % 3IId UGA g

Question Number : 93 Question Id : 60092910851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 fawedl & I 39 9ded &1 7 o Sl fAU 70 gtk o1 wg! 31 aral fadhed g
ool S T

Options :

IR ANEEEINIEISEES]
2. % MG A

3. % SR HEAT

4. % 3fdd A g

Question Number : 94 Question Id : 60092910852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # ¥ 39 oy o1 9g- &< ol Ug! fov fog gad ared &1 faded g

Options :

1. % gg ORI Id g o1 U1 8, 0R1 Hied g |3 HIR | 3T 3MTUPH! 39 HTH & o Ry 7 gogt

2. % g ORI I 8, ORT 0T 3,aRT Hiod & 3N HRA | 307 3TUP! 39 HTH & ford 3Ry 7 gugt
3. ¢ T ORI Id &, ORT YU §,0RT Pxiod § 37 HIRd | 30 31U 39 BTH & e Srgqef 7 9w |
4. % G ORI €, IR V0T 8,a%1 Bt g, 3 YR 1| 3T AT 39 HTH & forg 3rqmef 7 90 |

Question Number : 94 Question Id : 60092910852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fasred &1 999 &3 o Ug! favm g gad are &1 fawea |




Options :

1. ® TE AT Id g o1 U0 8, cRT B § 3N HRA | 30 TIP3 H1H & fore 3y 7 qoe

2. % g RIFd 8, oRT 0T 8,aR1 Hiod & |31 HRA | 30 3HTUP! 39 HTH & ol 3Ry 7 gugt
3. ¢ U8 ORI Id g, ORT Y01 8,a%1 Hxicd & |31 HIRA | 370 3! 39 S & g e 7 99 |
4. % gg AR Id g, oRT UUT 8, 0RT Hxied & 31 YR | 37U 39! 39 H1H & forg 3rqmed 7 99y |

Question Number : 95 Question Id : 60092910853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # O I fadwed o1 TgH & o Tg! for forg gad a1 &1 faded g
Options :

1. ¢ 81, $9R1R 4 § - d)-g: forar T |

2. % BT, SR N YT A g:W &l g ferar o |

3. % BT ; $9RIR YIg ¥ - g g ferar T |

4. % IR Y H g:@-g-g:9 forar ot

Question Number : 95 Question Id : 60092910853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faemedl # ¥ 39 oy o1 9a- &< Sl Tg! fov fog gad ared &1 faded g
Options :

1. ¢ BT, SRR UG § gg-gl-g fomar o |

2. % BT, 3R IR UM A g9 € g ferar T |

3. % BT, SRR g ¥ gE-gl-g forar o |

4. % FIRARIR UG H g E--g:@ foran o

Sub-Section Number : 2
Sub-Section Id : 600929600
Question Shuffling Allowed : Yes

Question Id : 60092910854 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (96 to 100)

e fou U TR & ST W Uy T U § (39 TR & T Jad U 3R IR fadm e # ¥ Ude Uy &1 arad SR g |

g1 HIaRT 3fTie &1 a8t g & | Siia &1 e WRY 3R STH & I 9% & 841 | M AN &g MU - 841 3R U Gemrah [fore +ff

31 3fiE T U1, Ia1 5l g S¢11 [T AT fIgT P & b al 3U Bl Pl TRa dTell oiaaily Sgd HH fordl IR Y8 7
ST 109 I8 7 o [ t-=ft o1 A1 Sfta § (97 A §, a1 Sita o § (@ wgar o Riert fiarfeedt &1 =m0 §, gaf foa = ame
foran rd B 13 TR IR 7 ST ) Ul @l | g1 Ure Wik 3TR e 1 SigTdl Y B 3ifires uRfie ot § | gt uep wifckmmed)
EaT g Sl TaHTd BT 3T Bl § SR G b A BT 8 |

Sub questions

Question Number : 96 Question Id : 60092910855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt it e ) HA Ybe BT B 2

Options :

1. ¢ 4 Wit siie &1 a8t RIg & S Siiae § I 3R URisidl ol SR SRl § |
2. % gt i I &1 918 g § S ST Udhe 81 SdT B |

3. % B Sia & g@| BT gy WRT 3R A a%d § |

4. % Sfig- & g@I DI SRl B gH G P AT I Uhe IR G |

Question Number : 97 Question Id : 60092910856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RE TS AN A5 & IR R Bl 6 2

Options :

1. % foren i 3iferes §NT I 81 g8 e
2. % FG1 gUR T RATS e 1 el 8
3. % GYIAGE I § |

4.« g1 3R U Hasi |

Question Number : 98 Question Id : 60092910857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3T T JHHT Reg T81 & 2
Options :

1. % 39

2. % qY

3. % SfigdPbTd

4. ¢ Ugd

Question Number : 99 Question Id : 60092910858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B AT R AU G 2

Options :

1. ¢ §fg &I fAHd , @uTa & 33T s § |
2. % Y TWRIG B SAIR |

3. % e i TRIS 81 Sl g |

4. % TGS ATE |

Question Number : 100 Question Id : 60092910859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X RIS T IId oD S |
Options :

1. % Sfigq 3R g4t |

2. % §49H IUM |

3. ¢ Bl 3G T I |

4. * g v G TaT R |

Question Id : 60092910854 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
) fow U e & dTe | Uy U U § [ TR Y e gdh U iR IR fadwed! B A Ul Uy 1 qaraH SR I |




gt it a1rig o1 a1 g B | Sfiae 1 Ied Wt ofR 3T & 37 avg § g1 | IR 9T &g T - g1 3R e Gl (v off
3P 3fiE T I Il 81 3G Sl [Th AT g b & fob HaT 3fu Bl ol WRa arell glaeild g o foran IR Uae 7
SIS 109 I8 dab forar [gef-g=it &1 1 She § (o7t A 8, 397 oita ol § (@3 el 8- Riertt Riarfeeht &1 7m 8, gef fod o @i
T H3a § |5 IRR 3R T 1 ) Ue TGl § | 51 UTeF Ve 3R I9d &1 9eTd! 8 , 1Y Bt i o= arcll § | 53! U faaemel!
EaT g Sl THTT BT 35T Bl § SR g ! i Heft g |

Sub questions

Question Number : 96 Question Id : 60092910855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ict 3 1 HA Ube PRl g 2

Options :

1. ¢ g4t iadt 3 &1 918t g © oY offa § Iy 3R U dl &1 TR HRal g |
2. % gt Wiadt 31 &1 918} g 8 S SR Uehe B ST § |

3. % B e & g@| BT g WY 3R A7 a¥d § |

4. % S99 & W DI SRl B 89 5 P AL Y Yhe IRA 3 |

Question Number : 97 Question Id : 60092910856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R GHI & AN A 5 & IR H R Bl 6 2
Options :

1. % oI it 3ffdfeh g1, I 81 G- ag
2. % BT R fore WaRATe Tifed 81 9ehal §
3. % gE AT GG |

4. ¢ g1 3R U Haai |

Question Number : 98 Question Id : 60092910857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31mg &1 FAFT Tee TET R 2
Options :



1. % 39
2. % 9y
3. % Sffadbrd
4.« Udd

Question Number : 99 Question Id : 60092910858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT R AU G 2

Options :

1. ¢ g & fAdd e o ST s g |
2. % YT TWRIE G SR |

3. % T Ufdd TR g ST § |

4. % TGYC AR |

Question Number : 100 Question Id : 60092910859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= TR BT Sfd e o/ |
Options :

1. % SfigT 3R g4t |

2. % Y9 P UM |

3. ¢ B S T O |

4. % € U Gl TaT R |

Disciplinel
Group Number : 6
Group Id : 600929350
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 600929505

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929601

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 60092910860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUYRT BT 3F Bls YR [6a] To! bodl [hud! a 52

Options :

1. ¢ TR} U fgad
2. ® WG YId
3. % TRl

4. % g Yip A

Question Number : 101 Question Id : 60092910860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SOV DT 3d DIs YR fedl To! Hoarl fhdd! a g7

Options :

|, ¢ BRI UG fgadh
2. % WG Yad
3. % TRl

4. % g Hip A

Question Number : 102 Question Id : 60092910861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T & U H . Tiivg 7 gt qiiec &t uyw =1 &1 O 71 ot 22
Options :

1. % YR

2. ¥ YdDHAR

3. % grTf

4. % AT I3US

Question Number : 102 Question Id : 60092910861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T & U H 81 7= A it g &1 g =1 14 A St 62
Options :

1. % GRTIR

2. ¢ YIdHER

3. % Tl

4. % Y T30S

Question Number : 103 Question Id : 60092910862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TG} IS I o TR BT AT F1 82
Options :

1. % Rufd-re®

2. % goyfd faerg

3. % {9

4. ¢ JeRaS

Question Number : 103 Question Id : 60092910862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 1ot I P AT BT AH &7 52
Options :

1. % RufcHeg

2. % goyfd faer

3. % 4ol

4. ¥ Jqavarg

Question Number : 104 Question Id : 60092910863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"5 FHETolt 8 el oy UM §F" - g wfa oY ufaa g2
Options :

1. ¢ faemfd

2. % ARG

3. % 3R

4. ® SIS

Question Number : 104 Question Id : 60092910863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"q&Y BHeTUN B el oY U U - b iy Bl ufFi g2



Options :
1. ¢ fa=mfa
2. % NI
3. % 3R
4. % SIS

Question Number : 105 Question Id : 60092910864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HigaeTelF fed) oo o) Taifdies T U HI1H-8 82
Options :

1. % Golret

2. % 3fqdi

3. ¥ 9

4, % JSTRYHI

Question Number : 105 Question Id : 60092910864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HigaeTelH fed! wTed & Faidd Y™ HIN SH-8 82
Options :

1. % Gofrell

2. # 3rqdt

3. ¥ 9l

4. % ST

Question Number : 106 Question Id : 60092910865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3R TR & T BT T 82

Options :



1. ® 3fegd IgHM

2. % TS HigJeH !
3. ¢ TSN FASTgE A Siifera
4. % TGUY

Question Number : 106 Question Id : 60092910865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR G & TS BT T T4 82
Options :

1. #® Hegcl XgHIT

2. % AT HigJe M faval

3. ¢ TN FASE N Siiferan

4. % TGUY

Question Number : 107 Question Id : 60092910866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MY T & Uadid 3R TUUGRI fbdl T SfTal 87
Options :

1. ¥ YRdg gRee

2. % Jodia™

3. % TfERRO T

4. % AT

Question Number : 107 Question Id : 60092910866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MY G & Ui SR TuYERi forg T ST 82

Options :

1. ¥ URdg gR¥q



2. # gadaN
3. % DR T
4. % TATSH

Question Number : 108 Question Id : 60092910867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT BT BT THT H F B ddb BT AT STl 82
Options :

1. ¢ 1900 T 3/d I

2. % 1700 § 39 dH

3. % 13759 1700 dH

4. % 1700 T 1900 d&H

Question Number : 108 Question Id : 60092910867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MY BT BT THT 9 I H qb BT HHT I 82
Options :

1. ¥ 1900 T 34 dPH

2. % 1700 4 39 dH

3. % 13759 1700 dP

4. % 1700 T 1900 d&H

Question Number : 109 Question Id : 60092910868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3IRBT R S50l BT GRAR B DI U2
Options :

1. % 9IS

2. % ¢4




3. % Hig T
4. ¢ HYA

Question Number : 109 Question Id : 60092910868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRS R THoiId BT GRART B DI UT?
Options :

1. % MG

2. %39

3. % B T

4.« DI

Question Number : 110 Question Id : 60092910869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3= HRTdR UTe fgddl wREad! & Huied oe a7
Options :

1. * 1900

2. % 1902

3. 91903

4. * 1905

Question Number : 110 Question Id : 60092910869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T HTdR UG fgddl Read! & Hurae He a2
Options :

1. * 1900

2. % 1902

3.9 1903



4. % 1905

Question Number : 111 Question Id : 60092910870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Yy Urfec foo yren & agaar § e g2
Options :

1. % g d

2. % 3@y d

3. % Hudi |

4. Uit H

Question Number : 111 Question Id : 60092910870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dig Y Afed oo yren & agaar 3§ fierar g2
Options :

1. % fgdi |

2. % 3faiH

3. % e o

4. Uit H

Question Number : 112 Question Id : 60092910871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT/ BT BT THT T YT?
Options :

1. % 13379 14 of Trdreat

2. % 1537 Y 14 o TrdTAl

3. % 53 Y 11 dY 2rarat

4. 1091 ¥ 14 Y TSl



Question Number : 112 Question Id : 60092910871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
M HTe/IRIMYT BT BT JHY FIT Y12
Options :

1. % 13979 14 df 2rared]

2. % 1537 14 of Fclsc

3. % 59 11 df wrared!

4.+ 10919 14 F zrarec!

Question Number : 113 Question Id : 60092910872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wer A YAt 7 faeT quH fear g2
Options :

1. ¢ T9i0T 51 1 SUB™

2. % o e o e

3. % PW DI a1 A3 i

4. % GG & IrHT Pl

Question Number : 113 Question Id : 60092910872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QR = YRt o foraent qui fvar 89
Options :

1. ¢ 4701 57g1 1 Sug™

2. % FjuT ST S

3. % W D] dTd A3 b

4. % GG & THY P



Question Number : 114 Question Id : 60092910873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QBT HIAAT BT R HRAGN DI [ I A T 91l 52
Options :

1. % HiGeRT

2.« IRy ITAT

3. % fagr e

4. % DO

Question Number : 114 Question Id : 60092910873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SfTBTeNH Hiaar BT SR HREACN ! forg T J AT ST 82
Options :

1. % gD

2. ¢ BT

3. % fogm T

4. % Hiafo

Question Number : 115 Question Id : 60092910874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fect TIfec 1 3R g YdTed] I AT SITaT 82

Options :
1. % gradf
2. % &4l
3. ¢ qudl
4. % gRgdl

Question Number : 115 Question Id : 60092910874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fe<t Tifecy &1 3R™ forg WrdTect T | ST 82

Options :

1. % gradf
2. % T3l
3. ¢ GHdl
4, % gRgdl

Question Number : 116 Question Id : 60092910875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et afecd & TerTdl fordl g1 T 82
Options :

1. % 3fffeepral

2. % YfcRiDTd

3. ¢ SIYFTd DHId

4. % Jfdera

Question Number : 116 Question Id : 60092910875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gt e & TRIwTd fohd dgl T B2
Options :

1. % 3fTfcepra

2. % YfcRiehTd

3. ¥ 3ATYHD DI

4. % Jfddra

Question Number : 117 Question Id : 60092910876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
SIF O3] QRI0T T 3faTe e faar
Options :

1. % T&Aul g

2. ¢ GIefd M

3. % YGRM el

4, % IMYHTG RS

Question Number : 117 Question Id : 60092910876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIF "0 QRIOT T SaTe fora faam
Options :

1. % TeAu g

2. ¢ It M

3. % YGRM e

4. % VTG fARSA

Question Number : 118 Question Id : 60092910877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 fawmedl § o8 ! 3R aad! & Sils 4T 7Y §| 374 T SiieT 7Tad §] IaI3U HI--91 Silsl Tad 82
Options :

1. ¥ YY1 TRTATRTY - A14Ter™E

2. % ARG AIRS - Jad 7y

3. % YR G He - faga A1y

4. % JAYTR - doe drd

Question Number : 118 Question Id : 60092910877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



19 fadedl & o D! 3R dW®! & olis [T U 8] S8 TH SISl 7T 6| Id1sU -1 SIST Ted 8?2
Options :

1. ¢ YIS GRS - AIHTE™

2. % AIRA AR - Tad iy

3. % YR G He - fagd A1y

4. % JAYTR - doe drd

Question Number : 119 Question Id : 60092910878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEIGd! aHl B I '3(Td o T hl UIE 62
Options :

1. ® P! WU

2. % 3UO™

3. % A4y TUg

4. ¥ GERUN BT HUG

Question Number : 119 Question Id : 60092910878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TgTed! g1 B1 X1 31clid & Iafes Bl GUg 82
Options :

1. % By Y8

2. % 304

3. % A4y IUg

4. ¥ GERUN 61 HI8

Question Number : 120 Question Id : 60092910879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dgeR AT TRt BT YawTd Her HIF-H 52



Options :

1. % BT

2. ¥ I B UT

3. % §S WPl dct
4. % S & Raerel

Question Number : 120 Question Id : 60092910879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AGER AT TRt BT YABAd BT DIF-91 52
Options :
1. % ST
2. ¢ I B UT
3. % g WP ol
4. % IS & fGArS!
Discipline2
Group Number : 7
Group Id : 600929351
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2

Section Id : 600929506



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929602
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 60092910880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I HAD! DI HEHT BT B IR T DHIH-T1 HYT T 8l 82
Options :

1. % ggHeMI 63 Rl A @

2. % T I HAD! AR IGAHUM DI UH HUT 61 q0H §

3. ¢ 3qH AQP U U g

4. % TP RID SRS Tl §

Question Number : 121 Question Id : 60092910880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I P! DI HEH! HEFT b TR H HIH-TT HY I g1 82
Options :

1. % g HeFI 36 R A ®

2. % T I HAD! AR IGTHUH DI UH HUT 61 q0H §

3. ¢ 39 OGP T WY 3

4. % 3P AP SMSIT TT &

Question Number : 122 Question Id : 60092910881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T Pl I & peHIeRI § e & fger A el erar g2
Options :

1. % Higd qHhY

2. % NI dlgd

3. % HHAR

4. ¢ TaU U

Question Number : 122 Question Id : 60092910881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS HEM! T & HEMIBRI & (9 | I fodeT 919 781 311 82
Options :

1. % Higd Ah

Question Number : 123 Question Id : 60092910882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTAIGN & Ll A1 B fgdl 3fdrg fore faamr

Options :

1. ¥ YRdg gRee

2. ¢ 7Sl d&fHur Rig
3. % I 9%
4. % JdIY AR Ay

Question Number : 123 Question Id : 60092910882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

PTG & el ice B fgal 3rgare fg febar
Options :

1. ¥ YRdg gReg

2. 7o AaH Rig

3. % SIS 9%

4. % YA AR Ay

Question Number : 124 Question Id : 60092910883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i faer o U T Sita-t o ol URY el g3l
Options :

1. % JEIG g H

2. % A Yo g H

3. YRdg g d

4. % HGAR yuTG fgadl g o

Question Number : 124 Question Id : 60092910883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfAe® fae & U T Siia-] g BT URY Hd g3
Options :

1. % UG g H

2. % G Yol g H

3. ¢ URdg g d

4. % TGIAR yTG fgadi g o

Question Number : 125 Question Id : 60092910884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



$S URABISM 3R 3P AUTGH AMGABRI & olts 16T U §| TATSY D IH-H1 SISl Tad 82
Options :

1. % IR - HEIdR g fgadl

2. % 9. UHdg

3. % IR - SUIRMA UTUSY

4. ¥ YT - YA O

Question Number : 125 Question Id : 60092910884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$3 URABISM 3R 3P JUTGH AMGIABRI & olts [T 7T §| TATSY HIH-1 SISl Tad 82
Options :

1. % TR - HYTAR TG fgadt

2. % g9 U

3. % I - SUARMU UIUSY

4. YT - YA =

Question Number : 126 Question Id : 60092910885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT A fore I & Hu-Siia- & gl ol gui fosa g2
Options :

1. = g:@ﬁlaq

2. % JBUIH S

3. % fcY DI =TI

4. ¢ JAIHI

Question Number : 126 Question Id : 60092910885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT A fohe I & HUH-Sla- & gl DI gUi [ g2




Options :

1. % ggarET

2. % TBU b o

3. % Y Bt ==
4. ¢ SAdTHI

Question Number : 127 Question Id : 60092910886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qHHI & st Rurdre H oae I 94 A [y fawg-awg &1 g
Options :

1. % g% H IS B & a5 Dl

2. % 1940 & fgdig A8Gg & fAwg &1

3. §TA & 3(DTd & [d9g Bl

4. % [9ER & 3PHTd o fAg BI

Question Number : 127 Question Id : 60092910886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qEMI & sta Ruidie d oge I 94 A oy fawg-awg &1 g1
Options :

1. % g% H IS B & a5 Dl

2. % 1940 & fgdla T8RS o faw &)

3. ¢ ST o 3fhTd & [avd hl

4. % f9gR & 3BT o fawg Hi

Question Number : 128 Question Id : 60092910887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fel 1 Ugar < THRIR-UH o A1 & TahI1iRId g3

Options :



1. ¢ GHER-JYT 801
2. % fggwm
3. % SR

4. % HUIR

Question Number : 128 Question Id : 60092910887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fed} o1 ugar <o THRR-UF ford A1 @ Ue1iRId gaim
Options :

1.  JHRR-GYT a0

2. % fgg&™

3. ® STRUT

4. % HHAR

Question Number : 129 Question Id : 60092910888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR T YYH T2 H -G 07 T BidT 82
Options :

1. ¢ 37l

2. % Udlq

3. % Arey

4, % 3d

Question Number : 129 Question Id : 60092910888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR I UY I H DIH-97 707 T BT 82

Options :

1. ¢ 3



2. % UdIq

3. % A1yg

4. % Qd

Question Number : 130 Question Id : 60092910889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & 173 ufdaar ferass grIfa 82

N T YA B W I HIS b B,
S W 317 U Y 4 4= a1 Y|
Options :

1. % fagmafa

2. ¢ 3R GWI

3. % S9!

4. % R

Question Number : 130 Question Id : 60092910889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & 173 ufgaar ferass grRIfa 82

I S A B AT AT B B,
S W 17 T I 4= 4= a1 Y|
Options :

1. % fagmufa

2. ¢ IHR G

3. % SOt

4. % IRa™

Question Number : 131 Question Id : 60092910890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
SR o Tl ol e fawa & 1?

Options :

1. ¢ YR TR
2. % YR

3. % QIRaING HIg_Y
4. % YRag Afd Rart

Question Number : 131 Question Id : 60092910890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STt & hTod BT I3 fawg &1 U

Options :

1. ¢ YR UHRA
2. % YRl

3. % IRATRe HIaATg
4. % YRarg Afd Rarst

Question Number : 132 Question Id : 60092910891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAR & HIA HH e HAR TUFA & ITHAIDHR DI 62
Options :

1. ¢ WHYR G

2. % 3fTaTd YEd

3. % JqqM™

4. % yHary

Question Number : 132 Question Id : 60092910891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HEAR & BT GH A 'HAR JUTGA & IR B g2
Options :

1. ¢ YR G

2. % 3fTaTd YEd

3. % qaar

4. ® yHarg

Question Number : 133 Question Id : 60092910892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qaus fhae! T g2

Options :

|. % DTG

2. ¢ fogR

3. % PG

4, ® Idh

Question Number : 133 Question Id : 60092910892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS et X1 82

Options :

1. % HYd

2. ¢ fogr

3. % gHq

4, % IdH

Question Number : 134 Question Id : 60092910893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgadl g &1 SRl STer A foy fagr A faam




Options :

1. ¢ ST T=

2. % SI. Yad

3. % gl TG fgad
4. % TR T

Question Number : 134 Question Id : 60092910893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgddl g1 &1 SRR dHIer A9 fobd fagr A feam
Options :

1. ¢ 81 T%

2. % 2. Yo

3. % BOIRI U9IG fgadl

4. % TRYARRO T

Question Number : 135 Question Id : 60092910894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T B o R & Wi &
Options :

1. % S

2. YIS

3. % WY

4. % HUYdT

Question Number : 135 Question Id : 60092910894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P! i T IRar I Heifdrd 92

Options :



Question Number : 136 Question Id : 60092910895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ey fohgs e 27

Options :

1. ¢ HER

2. % OGN

3. % Q9

4. % HYQ

Question Number : 136 Question Id : 60092910895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ety forads ey 27

Options :

1. ¢ HaR

2. % TIHAN

3. % QY

4. % DI

Question Number : 137 Question Id : 60092910896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 7 9 g = &1 aifde ot forg 782

Options :

1. ® PTG JaTs



2. % qford aa™
3. % Y19 foa
4. ¢ fogr gawas

Question Number : 137 Question Id : 60092910896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 19 b o1 ) afferes St ot
Options :

1. % $Yd Yads

2. % qferd aH

3. ® g faamg

4. ¢ TR Iaas

Question Number : 138 Question Id : 60092910897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIqT B! B T P 82
Options :

1. * faeyvrae e oy

2. ¢ AR FUrdi

3. % U

4. % IS Yad

Question Number : 138 Question Id : 60092910897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIAT DI & TR DI 52
Options :

1. * fayvrae e Ay

2. ¢ IERR FAUTdl



3. % U
4. % MAg Yo

Question Number : 139 Question Id : 60092910898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HeTed gAt & fAafiRad el &1 I8t BramH Mufid Sy

A -3y, gierfta, dufrar, gwoorf
B - 3f2W, Sulkrar, giewhid, guauu
C - guauurf, giemfia, I, ufkrar
D - SYufRar, gy, giemfid, 3=y
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 139 Question Id : 60092910898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hered! auf 1 Rafafad Tammeit o1 98t srasa Ryl sify

A -3y, gierfta, dufdrar, oot
B - 33N, SulRrar, gierhid, guagu
C - grauurf, giemfia, I, ufkrar
D - SufRRar, Iwgur, giemfid, 3=y
Options :

1.¥ A

2. % B

3. % C

4. %D



Question Number : 140 Question Id : 60092910899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
290 § DIH- AN &1 51 81 82
Options :

1. % T 0TS ST

2. % U9 ot g9 m v ot | !

4. ¥ T g8 T/t

Question Number : 140 Question Id : 60092910899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
290 § DIF-T AN &1 =T 81 /2
Options :

1. % TR 0RTS S

2. # U9 Ut g9 m T o @ !

3. % BOR-gR gl drel]

4. g gs =l
Discipline3
Group Number : 8
Group Id : 600929352
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

Discipline3
Section Id : 600929507
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929603
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 60092910900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o dfemal frgas gRTfea 82

TR TIST I THIE d9aR o BT
b Do I ol IRE fed 7-7g oI
Options :

1. % S5

2. # fra aaf

3. ¢ URdg gRYe

4. % IHAG Yo

Question Number : 141 Question Id : 60092910900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g dfeaal feae gr1 T 22

ORI TIoT I dHTd d¥aR &g B
b el Fi Sfef IR fgd #g eTul
Options :

1. % S
2. ® fq gAf
3. ¥ YRdg gReq

4. % A Yo

Question Number : 142 Question Id : 60092910901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AT SNt A 3G Pl o TgTId HUIGH B D1 Hd U H db [hdT?
Options :

1. % 1803 T 1808 dF

2. ¥ 1903 ¥ 1908 dPb

3. % 19239 1928 AP

4. % 1884 T 1901 AP

Question Number : 142 Question Id : 60092910901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ad St A 131G BIG AT & gD GUIad BT B Ha I B dd [hdT?
Options :

1. % 1803 T 1808 A%

2. ¥ 1903 ¥ 1908 AP

3. % 1923 1928 AP

4. % 18849 1901 AP

Question Number : 143 Question Id : 60092910902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

90 A HH-T1 9Heie ot gRT fafad ey 8t 82
Options :

1. ¢ famfor

2. % QR THMT 4T ST

3. % RN & B

4. % fgdl-3¢ @1 Thar

Question Number : 143 Question Id : 60092910902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ¥ DIH-91 UG oft gRT fofad ey =781 82
Options :

1. ¢ feamion

2. % URIAT STHTAT T ST HTA]

3. % TR & BAG

4. % -3 DI THar

Question Number : 144 Question Id : 60092910903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g URA & 8T $T Te1-Tg! Jedidhd BT § <l 81 3T UTeH JT &7 30T BT 8N | fohaesT Y= 82
Options :

1. % R Al

2. % S

3. % TOgIedt aa
4. ¢ JMfgar THf

Question Number : 144 Question Id : 60092910903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g URA & 8T BT Te1-Tg! Jedidhd BT § <l 81 U UTeH JT &1 3100 BT 8N | fohaesT Y= 82
Options :

1. % R Al

2. % S

3. % TOgIedt aa
4. ¢ JMfgar THf

Question Number : 145 Question Id : 60092910904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e e Fdiwr fhaed gr1 fafed Su=amd &2
Options :

1. % AT

2. % HaHIgATG Ay

3. % 3l yidd

4. ¢ \fisq wrgl

Question Number : 145 Question Id : 60092910904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e FAferr R fhad grT fifed Su=ar &2
Options :

1. ® AN

2. % yaryETe fay

3. % 3l didd

4. ¢ o7 Irg

Question Number : 146 Question Id : 60092910905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T TIPS F1 SR & WD B 82
Options :

1. % 3R

2. ¥ gigady

3. % YHIR YRl

4. % IR

Question Number : 146 Question Id : 60092910905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T RS &1 S & AWF DI 87
Options :

1. % 3}Y

2. ¢ gfadqaiy

3. % YHdR YRa

4. % R

Question Number : 147 Question Id : 60092910906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR TG fgdal &l Aifecd Td R o & o S U1 YNl REBR A 1 fooan mam
Options :

1. % 71857 H

2. % g7 1937H

3. ¢ 991957 H

4. % FT1900 H

Question Number : 147 Question Id : 60092910906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI T fgadl &) Uifec ud fRren & &9 & &d Ust Yuu [RIGR J J1d fovar mam



Options :

1. % 1857 H
2. % 1937 H
3. ¢ 91957 ®
4. % 91900 H

Question Number : 148 Question Id : 60092910907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I\ [al [aY . o\ QA .
BB P d1 HEH! YU o AT DI %?
Options :
1. % gfaqary
2. ¥ 3T
3. % e Hifars ™
4. % QYR HIEd

Question Number : 148 Question Id : 60092910907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS DI TI BT TG P AU DI 82
Options :

1. % gfgadiy

2. ¥ 3R

3. % el Hifary g

4. % JHTHR AT

Question Number : 149 Question Id : 60092910908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tord FReR 3R Rt frass g fafad @ g

Options :



1. ® R gy
2. % UIIG gRI
3.« Od gRI

4. % TGl gRI

Question Number : 149 Question Id : 60092910908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥oTd R R et fbges gr1 forfed Ta g2
Options :

1. % ORI gRI

2. % Ul gI_0

3. ¥ Ud gkl

4. % TgIdI gRI

Question Number : 150 Question Id : 60092910909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 famed! o 9 SH-1 yidR UR< gRT Iad quiig e 82
Options :

1. % IS BT Arqdl gral

2. % THTEI &I ¢adl

3. YT

4. % GRIR

Question Number : 150 Question Id : 60092910909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 fasmed! o 9 SH-91 yHdR YR gRT IId QuRig e 82
Options :

1. ® IS P WIdal °Iel




2. % TG T gadl
3. ST
4. % QRR

Question Number : 151 Question Id : 60092910910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & TG H ISThTol 3R GHid aFf Bt aar 1o e
Options :

1. ¢ BRY!

2. % 3l

3. % STl

4. % fgd

Question Number : 151 Question Id : 60092910910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRdwg, & T § [obTol 3R Fyid vt &t am i 2t
Options :

1. ¥ BRE!

2. % 3l

3. % STl

4. % fgdl

Question Number : 152 Question Id : 60092910911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SFTHER 1 UIYT fohdrc g feifed SU=IT 82
Options :

1. % HHAT Do

2. % SN Giad!



3. ¢ gORIUATE fgad)
4. % QG SR

Question Number : 152 Question Id : 60092910911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG &1 UT fohdioh gRT fATfed U= 82
Options :

1. % HHAT DI

2. % SN Glad!

3. ¥ GORITTG fgad!

4. % YW R

Question Number : 153 Question Id : 60092910912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofifed & 9 SIF-91 T~ WS T 37
Options :

1. % UsI1dd

2. % QGRS Il

3. ¢ YA Y

4. % g gary

Question Number : 153 Question Id : 60092910912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiad 7 @ oH-91 = T ST 72
Options :

1. % UsI1dd

2. ¥ QGRS Il

3. ¢ YA Y



4. % O Yoy

Question Number : 154 Question Id : 60092910913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y& B HH- T IUTHH HT BT I IaTeR0T 82
Options :

1. ® PR

2. ¢ YuId

3. % Yigeresl

4. % T-gHY

Question Number : 154 Question Id : 60092910913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RGN DI DF-UI T IUTAY BT BT AT I&T6R0 57
Options :

1. # PR

2. ¢ YAl

3. % Hifgeeredt

4. % Tof-cHY

Question Number : 155 Question Id : 60092910914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JERAIG & YaY H DIF-IT YU 3 82

Options :

1. % Ygwale &1 da¢ o FRIeR U ¥ §

2. % ST 19 WRHTHT T T Sl 8 Y 98 HIa-THS 81 STl 8
3. % FIYFATHES GWAIG H AT HUS T SN Bl §

4. ¥ HER IgAIe! Hid T8l §




Question Number : 155 Question Id : 60092910914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEWATE & JaY H BIH-T1 HY 3T 82

Options :

1. % YgHaIE &1 daY AU SR U4 §

2. % ST 9 WRHTHT T T Sl 8§ Y 98 HIa-THS 81 STl 8§
3. % FIYFTHD IGWAIG H A8 HUS A SN Bl §

4. ¢ BRI B e &

Question Number : 156 Question Id : 60092910915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DR H1edl | o I &1 Tl 52
Options :

1. ¢ IR

2. % YR g

3. % gRIG

4, % Hgyd ¥

Question Number : 156 Question Id : 60092910915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR S1edl | o T &1 JeTd 62
Options :

1. IR

2. % YR

3. % 4R

4, % Hgyd ¥



Question Number : 157 Question Id : 60092910916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faedt & T SI-91 fash e Teld 82
Options :

1. % U YHHR ST & Hid §

2. ¢ Ud A Ia2N BT &I T B g

3. % Ud & P | wfaardl e ot firerd 8
4. % Uq 1A eRfdg axF A ft guifaa w18

Question Number : 157 Question Id : 60092910916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ot & @ -1 fawey Terd 82
Options :

1. % U YHHAR Hed1 & H1d g

2. ¢ Ud 7 IIM P1cd B Tl @

3. % Ud & Hred § yafaaret o= of firerd 8
4. % Ud P 3RdE g2 ¥ R yuifda g1 8

Question Number : 158 Question Id : 60092910917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S HI! & TIAIDT b TR 3RIe! v & Tal fddhed ol Y
Options :

1. % Ud, gaTe, R, Heied!

2. ¥ TG, fARTa, U, HeTedt

3. % R, U9Te, Ud, HeTad!

4. % TgIat, Ud, FRTe, uTe

Question Number : 158 Question Id : 60092910917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1 BTl &b TITDTd B IR RIE hH b gl f[ddbed ol Y
Options :

1. % Ud, ugre, fARTa, #eTedt

2. ¢ U, fARTET, Ud, HgTed

[a}

3. % T3R7Q, Y9G, Ud, Hgledl
4. ® A, Ud, fARTer, vare

Question Number : 159 Question Id : 60092910918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A S B B fpaeT ST 82
Options :

1. % % AR

2. ¢ fda aat

3. % HHJAIAT AR

4. % HIgA ABT

Question Number : 159 Question Id : 60092910918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A ¢F &1 B [hadT 30T 52
Options :

1. % 9% AR

2. ¢ i aut

3. % HHJIA AR

4. % HIgd A

Question Number : 160 Question Id : 60092910919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
SRIRIR UG B holdl bt Gl foal g2
Options :

1. % 65

2. % 85

3. % 69

4.9 70

Question Number : 160 Question Id : 60092910919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRIRIHR UG B Pol-dl Bt 1 foa g2
Options :
1. #® 65
2. % 85
3. % 69
4. 70

Discipline4
Group Number : 9
Group Id : 600929353
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline4

Section Id : 600929508
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929604
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 60092910920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3P fhg TfeTdR BT IUAH 82
Options :

1. % UFq

2. % 3R

3. ¢ JULAY

4. % % AR

Question Number : 161 Question Id : 60092910920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 forg AIfFTBPR BT IUTH 82
Options :

1. % YHeig

2. % 3

3. ¢ JUSAY

4. % % AR




Question Number : 162 Question Id : 60092910921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG B SHTHARTE HEH 8 SHTHART HIF g7
Options :

1% PR

2. % foeddl

3. Ardl

4. % 9

Question Number : 162 Question Id : 60092910921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG B SHTHART HEH H SHTHART B 82
Options :

1. % BYR

2. % foeedt

3. drdl

4. % ST

Question Number : 163 Question Id : 60092910922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"JYATY Ry forg oRae @ oid ST HE =19 U1
Options :

1. % WS Yo

2. % S

3. % fyrde quf

4.« TTISH



Question Number : 163 Question Id : 60092910922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"JeATY ey fhy e 9 Hia &1 gat 19 U1
Options :

1. % A Yo

2. % TR

3. % e ouf

4.« TTISH

Question Number : 164 Question Id : 60092910923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fARTET forTen! 31OUMT S1eaTeH % A 62
Options :

1. ® U

2. % 3Rfdg

3. % Sl THHG -

4. ¢ fqdorg

Question Number : 164 Question Id : 60092910923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fARTeTT feh e 31T 31eaTe T WM 82
Options :

1. % U

2. % 3Rfdg

3. % I THAG

4. ¢ fadeTg

Question Number : 165 Question Id : 60092910924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafad vy 3, IR foecdl 7 9, 39 ey &1 987 B3 o faU U e &1 yafar Wsg a1 71

Ydia

Options :

1. # 3hdlg
2. % fhadd
3. % SEYfd
4. ¢ YidgRl

Question Number : 165 Question Id : 60092910924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifead uy 5, IR fasedl & O, 39 fddey &1 999 &1 Sl faT U Ysa &1 Ugiar Teg el g
SGI

Options :

1. % 3{hdlg
2. % fhadd
3. % SEYfd
4. ¢ gfaeR)

Question Number : 166 Question Id : 60092910925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferfad uy & IR fowedl & T, 39 fdb ey &1 9g9 &3 o 3T 7Y Weg &1 faad s 2|
THfy

Options :

1. % gfgdhdl




2. ¢ M
3. % Mg
4. % TER]

Question Number : 166 Question Id : 60092910925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferad uy & IR foeedl & T, 39 fdb ey &1 Tg9 &Y o 3T 7Y Weg &1 faad s 2|
THfy

Options :

1. % gfgdhdl
2. Y

3. % fig

4. % Ty

Question Number : 167 Question Id : 60092910926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad uy & IR foeeal ° T, 39 ey &1 Ta &1 ot feT TN Ui Xe o1 Iet fdhey g |
3Myfad

Options :

1. % forfea
2. % A3

3. ¥ TR T8
4. % 9§

Question Number : 167 Question Id : 60092910926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fufafad s A, IR fowedl ° O, 39 fasweu o1 Taa B3 S feU 7T teies Weg o1 Ual fabeu 5|
3Myfead

Options :

1. % foRfar
2. % R

3. ¥ Tt 18
4. % 9§

Question Number : 168 Question Id : 60092910927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad Uy & IR foeedl ° T, 39 ey &1 Tu &1 Ot feT U 3Hep1die e T T8t A ey 781 71
I

Options :

1. ¢ fad
2. % N

3. % oI
4. % IBTR

Question Number : 168 Question Id : 60092910927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR eeal 7 9, 39 fawcu &1 987 &% ot feu U sFa 1 Treg o1 Ug! fadhey 81 B
I

Options :

1. ¢ faod
2. % N

3. % g
4. % ISR




Question Number : 169 Question Id : 60092910928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 9w ey &1 987 &% o ST T 94 Ueg b1 et [dbed T8l 5|

Options :

1. # dldyq
2. % MR
3. ¢ fUgadrs
4. % I

Question Number : 169 Question Id : 60092910928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eedl 7 9, 39 o cd &1 997 &% S ST T 99 Vst b1 ot f[dbed T8l 5|

Options :

1. #® d[dy]q
2. % G{hR
3. ¢ fUgadhs
4. % I}

Question Number : 170 Question Id : 60092910929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR weal 7 9, 39 fowed &1 997 &% S ST T 99 Ueg BT ot f[dbed T8l 5|

Options :
1. % pufd
2. ¥ DR
3. % 3d



4. % gUIY

Question Number : 170 Question Id : 60092910929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed gy §, IR et 7 9, 39 f9hcd &1 987 &Y o ST T 94 Ueg b1 el [dbed Tel g

Options :
1. % HA
2. ¢ I
3. % 3fad
4. % U

Question Number : 171 Question Id : 60092910930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eredl 7 9, 39 f9hcd &1 987 B o U0 ¥ & g HT Jg! faped T8l 5

Options :

1. ¢ fgTa
2. % fege
3. % TTgd

4. % Gl

Question Number : 171 Question Id : 60092910930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy d, IR ieeal 7 9, 39 9 &1 987 &% o U0U ¥ & Wec BT Y8l faped T8l 5

Options :
1. ¢ fAgTd
2. % faedge



3. % Tgd
4. % G

Question Number : 172 Question Id : 60092910931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad Uy & IR foeedl ° T, 39 ey &1 Tg7 &3 S UT T 94 s &1 T [dhed T8l B

Options :

1. % Ycildl
2. % IR
3. % Sdd
4, ¥ HJDIR[

Question Number : 172 Question Id : 60092910931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR ieredl 7 9, 39 9 et o1 987 &Y ol U0 ¥ - eg BT Jg! fabed T8l 5

Options :
1. % Ycildl
2. % qEIR
3. % Sdd
4, HIDIX[

Question Number : 173 Question Id : 60092910932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR ereal 7 9, 39 fahcd &1 997 & O feT TN Yeg &1 faaiv Teg 1
&

Options :



1. % a1
2. % g
3. % 435
4. ¢ faud

Question Number : 173 Question Id : 60092910932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foliad uy & IR foeea & ¥, 39 9hey &1 Tu9 &1 Ot feT TN Wsg 1 foav Teg B
&

Options :
1. % far
2. % MH
3. %53
4. ¢ fa=rma

Question Number : 174 Question Id : 60092910933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Rieedl 7 9, 39 9w cd &1 987 &Y oY faU 70 th1deh e 71 I8! fapeu 5|
3

Options :
1. ¥ BT UTg
2. % FSIUR
3. % faRa
4. % 8o

Question Number : 174 Question Id : 60092910933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFofifed uy §, IR Reedl 7 9, 39 fdhcd &1 987 &Y oY faU 70 th1de e o1 I8! fapeu g |
3

Options :

1. ¢ BT HTs
2. % §SIHIS
3. % favd
4. % B3

Question Number : 175 Question Id : 60092910934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad we o, TR fawenl # 9, 39 fadhed &1 7997 & Sl faU U Wsg T & 3 &1 9e! fawved |
&d - Hid

Options :

1. % JACHR - YHIac

2. ¢ fobarr gaf - wRiar gan
3. % Tg - TST g3

4. % 99 - bR

Question Number : 175 Question Id : 60092910934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed § 9, 39 fadmed &1 9g &3 off faU 7T Weg T & 31 &1 Tg! fadbeu 5|
$d - pid

Options :

1. % JIACHN - YpHIac

2. ¢ fobar gan - @dargan
3. % g - ST g3l

4. % 9 - bR




Question Number : 176 Question Id : 60092910935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IART BT 2 4 e b fba A B 82
Options :

1. %3

2.%5

3.% 6

4. ¥ 4

Question Number : 176 Question Id : 60092910935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I B1 =P I Teal & fba Na I &7
Options :

1. %3

2.% 5

3.% 6

4. ¥ 4

Question Number : 177 Question Id : 60092910936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawent § 9, 39 fadey &1 T B S foU 10 are & SR 8t ey & 3e & fdhed g |
a8 (98 UR-49R) T g

Options :

1. ¢ fobar fa=Ieur ugay
2. % foharugsy

3. % JYUqEY

4. % I UGy




Question Number : 177 Question Id : 60092910936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawent § 9, 39 fadey &1 T B3 S fou 10 are & SR 8t ey & 3e & [dhed g |
a8 (9gd UR-49R) T g

Options :

1. ¢ fobar fa=Ieur Ugey
2. % fharugey

3. % Y UEY

4. % I UGy

Question Number : 178 Question Id : 60092910937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawedl § 9, 39 fawed &1 70 &L S foU T8 a9 & S8R TdH & 0e &1 Ug! f[ddbed g
T & Wi H (F8) HH g

Options :

1. % grERErad 994
2. ¢ SHFgars 949
3. % Uyarad qa-Tq

4. % foraree 99

Question Number : 178 Question Id : 60092910937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o, TR fawet § 9, 39 fawey &1 7= &3 S foU T8 a9 & S8R Td9H & 33 &1 Ug! fddhed g
\H & W@e T (D) HH g

Options :




1. % grERArad gaqH
2.  JfAYaTES gdAH
3. % UdrEIS Ja-TH
4. % fASara® IdH

Question Number : 179 Question Id : 60092910938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&<t & ug & fram 9g W UHR g 82
Options :

1. %7

2.% 6

3.5

4. % 4

Question Number : 179 Question Id : 60092910938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&t 7 ug & foban g TTUPR Bl 82
Options :

1. %7

2.%6

3.¢¥°5

4. % 4

Question Number : 180 Question Id : 60092910939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl § 9, 39 fawed &1 70 &L S foU T8 a9 & S8R fohal & A &1 9e! fdbed |

31 @M @M & 9 T8 g
Options :




1. ¥ QAPIaID fohd
2. % AHYTq fobar
3. % TRUme foba
4. % 3D fobar

Question Number : 180 Question Id : 60092910939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl § 9, 39 fawed &1 70 &L S foU T8 a9 & S8R fohal & U &1 9e! fdbed |

31 @M1 WM & 9 T8 g

Options :
1. ¢ QdpIicId fod
2. % qrayrd fobar
3. % URume o
4. % DD foba

Discipline5
Group Number : 10
Group Id : 600929354
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Discipline5



Section Id : 600929509

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929605
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 60092910940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed oy & aR fawedl § 9, 39 fadmed &1 9a- H< off U T8 a1 & SR ford o= & e &1 Je! fddwed g
T (31T § U8 B QBT

Options :

1. ¢ DHIIdldd
2. % {[ddd
3. % Jfddra®

4. % URHUETEID

Question Number : 181 Question Id : 60092910940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR foswedl & 9, 39 fawed &1 999 &3 ol fAU T8 a9 & SR b faRivor & U &1 98! fdsed ]

T (3M1S0) BT I8 BT JRT BT B
Options :

1. ¥ DdIcidlddh
2. % R[ddP




3. % Afdaras
4. % gRUTUETIS

Question Number : 182 Question Id : 60092910941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy §, IR iwedl 7 9, 39 faweu &1 997 &% S HIdd™s I3 & Ve &1 Ta! fahey 7l B

Options :
1. % gifed
2. % Jpddl
3.¢ "
4. % IRTS

Question Number : 182 Question Id : 60092910941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad Uy & IR fowedl ° T, 39 ey &1 Tu &L S HIgdTas U1 & Ve BT Jet e 781 g

Options :
1. % gifed
2. % Jpddl
3.¢ O
4. % I

Question Number : 183 Question Id : 60092910942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o Trsa! & TANTER $3 URdadH 37 8IdT §, d 71 Hedld 82

Options :
1. ® Ug




2. ¥ Ugey
3, % 3fABHRI Yeg
4. ¢ [ABRI Usg

Question Number : 183 Question Id : 60092910942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o Srea # TRNTIER $© URad- Sdd 81dT §, d 71 Hgald o2

Options :

1. % Uq

2. % Ugdy

3. % JHfAPRI Tsd
4. ¢ [dBRI Teg

Question Number : 184 Question Id : 60092910943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR ieedl 7 9, 39 f9hcd &1 987 &Y S HIgdad I3 P Ve BT gl fahed 7l g

Options :
1. % g
2. % fdspt
3. ¢ ST
4. % FU

Question Number : 184 Question Id : 60092910943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofead Uy & IR foeedl & T, 39 f9h ey &1 999 &L S HIgdT=d U1 & Ve BT et fdhed 731 g

Options :



1. % gy
2. % foepl
3. ¢ ST
4. % S0

Question Number : 185 Question Id : 60092910944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl & 9, 39 fawey &1 999 &3 o f3U T8 a9 & SR fawm & A &1 98t fasea g |
(U ciiex g8l Foret Sirar at iR & ST

Options :

1. % IHAGES [GRT0r

2. ¢ [Af¥d aRkHTUTaTa® fa=wor
3. % T[UETIS faRIvor

4. % gD fa=wor

Question Number : 185 Question Id : 60092910944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 fadmed &1 78 &1 off [T T a/d & AR faRv0r & 9 &1 9! fawed |
(U diier g i Sirdr df @R & S|

Options :

1. % IJeTarad [a=IwoT

2. ¢ TAfga uReurarees farivor
3. % T[UraTAS fARIor

4. % g1 fawor

Question Number : 186 Question Id : 60092910945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



for T fopan A e fopan ) quidl &1 iy ST § 39 o1 hed 82

Options :

1. % Fodeys
2. % SfAMAEIYD
3. % AHINEUD
4. ¢ G YD

Question Number : 186 Question Id : 60092910945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg Tged fopan & e fopan @t quidT &1 dly €T § 39 o1 ed 82

Options :

1. ® fHoaeiys
2. % HSIUD
3. % JAHREYD
4. ¢ TUICISIYSH

Question Number : 187 Question Id : 60092910946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawent § 9, 39 fawey &1 7o &3 S foU T8 a9 & SR Td9H & 33 &1 Ug! faded 3|
(F8) THRI S1TE g

Options :

1. ¢ Fygaree gd—H
2. % TIGRARIS TITH
3. % fAS/aTee ga-mH

4. % IFYaTH JdATH

Question Number : 187 Question Id : 60092910946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & 9, 39 faswey &1 999 &3 Sl fSU U a1dg & 39R Y4 & W &1 98! fddbed |

(TE) T TR )
Options :

1. ¢ Rygaras 9948
2. % FrERGMED A
3. % fAoTarge ga-mH

4. ® Targed gdamH

Question Number : 188 Question Id : 60092910947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T o T U A1 g 1 T Hd 87
Options :

1. ¥ Ug

2. % guf

3. % 3Jdq

4. % I

Question Number : 188 Question Id : 60092910947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 H T Td® A1 Ueg &1 ol Hed 62
Options :

1. ¥ Uq

2. % quf

3. % =g

4. % G

Question Number : 189 Question Id : 60092910948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

329y 3R gy & 3T
Options :

1. % Qo

2. ¥ dI]

3. % Al

4. % Qoq

Question Number : 189 Question Id : 60092910948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jexy SR fady F 3T
Options :

1. % grgm

2. ¥ dI]

3. % -l

4. % Vo

Question Number : 190 Question Id : 60092910949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% fashedl @ Tgad a1 & Ugan-g

Options :

1. ¢ 3P IR @ 3R A firet S

2. % U = HieH o fer

3. % g Hd ToR1d o1 g

4. % S GURI B HGE P & WTTH S751 I HGE AT 6

Question Number : 190 Question Id : 60092910949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

f faereal # @ ged a1 &1 TgHTy

Options :

1. ¢ 3P IR @ 3R JrA firet S

2. % U = HieH o fer

3. % g &Hd ToR1d o1 g

4. % S GURI B HGE P § WTTH S75] I HGE AT 6

Question Number : 191 Question Id : 60092910950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAftaRad ot # S5 &1 9gl fawey ygarg
R A 1 Y TSUd gU o 1 Brs faa

Options :

1. ¥ 3RA

2. % Yg 9 dsud

3. % IRAYT Y

4. % IXH Y@ Y deud

Question Number : 191 Question Id : 60092910950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAftafaa area ¥ 35 &1 I8! fddwed ugdy
W 4@ T3Ud gu fex @l sts faan

Options :

1. ¢ qRA

2. % Y@ Y deud

3. % IRAYT Y

4. % A YT Y deud



Question Number : 192 Question Id : 60092910951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g fawedl & 9 firey a1y &Y uganAy
Options :

1. % 98 gas 1 SR TH $I dIc 31|
2. % gH 3T fIeTer ST g

3. v 1 81 39 gar !, ag I 7|

4. % AN W BT 3|

Question Number : 192 Question Id : 60092910951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 fasmedt § 3 fiy a1 &) ug=nfAy
Options :

1. % g a8 7T 3R W &I dle 37|
2. % gH 31 fqemed ST g

3. ¢ 41 81 38 gar Ui, I8 1 |

4. % AN MBS 5|

Question Number : 193 Question Id : 60092910952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & 3MYR W alad & fra 9g 81d 82
Options :

1. ¥ IR

2. ¢ oA

3. % Q)

4. % O



Question Number : 193 Question Id : 60092910952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT P YR TR T & foha g Bid 62
Options :

1. % IR

2. ¢ A

3.8 Q)

4. % Ui

Question Number : 194 Question Id : 60092910953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad are o fadg &1 98l fawe gy

A § et STee BT
Options :

1. % BIUE

2. ¢ B §1Ed BT S

3. % PHId gl

4. % FEABI UG

Question Number : 194 Question Id : 60092910953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad are o fadg &1 981 fawe gy

A § el ST BTT L
Options :

1. % BIMUE

2. ¥ BA TG BTT Y

3. % A dIGd




4. % SIEABILE

Question Number : 195 Question Id : 60092910954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasedl O § Tgad are &1 Ugdn-y|

Options :

1. % QI TR Mg

2. % g8 Y3 pedl ¢ [ T Rramae sl el g

3. ¢ ST &ifrURd 81 T, TR g1 &bl &= ferar T
4. % T garsi f& gH aed ||

Question Number : 195 Question Id : 60092910954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{7 faereal # @ Tged a1 1 ugETy|

Options :

1. % T3 SRR A g

2. % 95 G 1 ¢ b N Rrarae st T R
3.+ O8I &faoRd 81 T, TR ATl o1 & foran |
4. % T garsil fos gH A1gd R B

Question Number : 196 Question Id : 60092910955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fasmedt 7 3 firy a1 &) yg=nfAy

Options :

1. ¢ Qa8 S Y6y § I8 HI%T ITd g

2. % A WH B 3R Y I3

3. % §= ) U A =it o1 iR a8 39 et mam
4. % b I THET WIS 3R dgS W8]



Question Number : 196 Question Id : 60092910955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fawedl & 9 firey a1y &Y uganAy

Options :

1. ¢ TS S UeiY § 98 BT ITed o

2. % G WH B 3R Y I3

3. % 9 P U AT anfeu ot 3R a8 39 e
4. % 31 Y T W3l 3R dged @)

Question Number : 197 Question Id : 60092910956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfrrRad ot 7 fada &1 98} fabey ugay

et et gaR o =ar 3
Options :

1. % FgTe Teht

2. AR AT Y

3. % gaR g

4. % gl

Question Number : 197 Question Id : 60092910956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAftafaa area ¥ fada o1 I8! fawed ugang

et et ga o Jar 9
Options :

1. % T Tireh

2. gUR g aar Y




3. % gAR fUg
4. % g adn

Question Number : 198 Question Id : 60092910957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fasmedt § 3 fiy a1 &) ug=nfAy

Options :

1. % THET T B 3R Y S|

2. ¢ Y €1 UGTS WeH g3 9 B gH Cger Meba Y
3. % IRTIE ST g

4. % TG 9gA el 3, Pl TGl

Question Number : 198 Question Id : 60092910957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e foeedt & @ gy a9 &) yganfy

Options :

1. % G EH B 3R I 3

2. ¢ SR g1 UgTS T g% 9 €1 g g Hebal g
3. % R i 3 g

4. % IR 9gd U4l §, PIC g

Question Number : 199 Question Id : 60092910958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR I fhd pgd 22
Options :

1. ¢ Torg a1 & U I5%d 3R T 1 fada gl
2. % 7 a1 # f3dy faRwor gaa g
3. % {59 a1 U U Sl 9UT 3 T 8|




4. % R I H Q) Hdl aUT IS fBar g

Question Number : 199 Question Id : 60092910958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR AT fhY Hgd 32
Options :

1. ¢ o9 919 7 T I5 R4 IR T 51 A g
2. % 5 a1 H fa ey fa=Ivor god 8|

3. % RO 919 § U &dl 9T 3 o 8]
4. % 59 are0 ° Q) i 9UT TH fhar g

Question Number : 200 Question Id : 60092910959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 fasbed! o ¥ 39 [dded &1 997 &< ol faU 71U Xeg & W1 WfY-fawse o1 fawed g
i

Options :

1. % Tt + 3id

2. % HW\i+d

3. % 9+ Hid

4. 1 + 3fd

Question Number : 200 Question Id : 60092910959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl # O 39 fadwed o1 9g4 &% o 3T U e & TE1 IfY-fawse &1 faweu g
i

Options :
1. % Tl + 3fd




2. % Ui+ d

3. % 9t +Hid
4.« T + 3id
Discipline6
Group Number : 11
Group Id : 600929355
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline6
Section Id : 600929510
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929606
Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 60092910960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
79 fawedl & § 39 fadwed &1 99 &3 off AU 7T Tsg & Ta! If-fawse &1 faweu g

ROt

Options :

1. % IR+ R

2. ¢ RO + 3ff

3. % RO + 3t
4, % TROT + At

Question Number : 201 Question Id : 60092910960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl § O 39 fadwed o1 9g &1 ol 3T U e & Te1 IfY-fawse &1 faweu g

IRomf

Options :

1. % TR + R

2. ¢ RO + 3ff

3. % TROT + 3meff
4, % TROT+ At

Question Number : 202 Question Id : 60092910961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
79 faweal & § 39 fadwed &1 99 &3 off AU 7T Tsg & Ta! If-fawse &1 faweu g

Options :

1. % =ROM+Hd
2. ¢ TROT + 3H{Hd
3. ® TRUT+ 3Id




4. % TROM + ST

Question Number : 202 Question Id : 60092910961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdshe &1 987 3 off 3T 7TU Treq & U8} IfY-fawde &1 faweu g
TR

Options :

1. % <=RUM+ Hd
2. ¥ IROT+ 3H{HJ
3. % TRUT+ 3ATHd
4. % RO + 3fHd

Question Number : 203 Question Id : 60092910962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feu U wree # uged WY & Y o1 98 e gy
EICEY

Options :

Question Number : 203 Question Id : 60092910962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 fau U Tree # wyad ©fY & e o1 I8 fdwed gy
ClGED



Options :

Question Number : 204 Question Id : 60092910963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdehey &1 9a= 3 off fou U IfY-fawde Wsg & Ie! IfY &1 fdsheu 3|

g + g=
Options :
1. % st
2. % fOfcsT
3.« fUf=ar
4. % U

Question Number : 204 Question Id : 60092910963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 faswmed &1 79 3 off AT 77 TfY-fawde Wsg & e WfY 1 faweu |

g + 5=t
Options :
1. % O
2. % ffd=a
3. ¢ fuf=er
4. % Uit

Question Number : 205 Question Id : 60092910964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fawey &1 99 3 off AU 7T Tsg & et If-fawye 1 faweu g
I

Options :

1. % I+
2. % @1+ U9
3. % I+ 09
4. ¢ Jq+ 0@

Question Number : 205 Question Id : 60092910964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faswedl # O 39 fadwed o1 9g9 &3 o 3T U e & T&1 IfY-fawse &1 faweu g
I

Options :

. % I+79
2. % 3+ U9
3. % Jd+ A9
4. ¢ Iq+ 7@

Question Number : 206 Question Id : 60092910965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
guif & T TSNS B! T Hd 82
Options :

1. v dfY

2. % fagr

3. % Hffowsg

4. % dId



Question Number : 206 Question Id : 60092910965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qulf & Hel IT IS 1 T HBd 67
Options :

1. ¢ WfY

2. % fagr

3. % f-fowse

4. % di]

Question Number : 207 Question Id : 60092910966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdehey &1 9u= &3 off fou U IfY-fawde wisg & Ie! IfY &1 fdsheu 3|
?l?-[+ﬁl3[

Options :
1. % gares
2. ¢ G
3. % gt
4. % it

Question Number : 207 Question Id : 60092910966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 faswred &1 79 &3 off AT 77 TfY-fawde Weg & e WfY &1 faweu |
‘Gl?[+ﬁl3[

Options :
1. ® A
2.« FEE




3. % g
4. % WA

Question Number : 208 Question Id : 60092910967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdehey &1 9u= 3 off fou U IfY-fawde Wsg & Ie! IfY &1 fdsheu 3|
ﬁ[:—F@T

Options :

1. ¢ fIsgX
2. % AR
3. % B8R
4. % HigR

Question Number : 208 Question Id : 60092910967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fawed &1 79 3 off AT 7T TfY-fawde Weg & e fY &1 faweu |
ﬁ[:—i-_g'T

Options :

1. ¢ R
2. % IR
3. % R
4. % HIgR

Question Number : 209 Question Id : 60092910968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 fasedt o 9 &1 1 7707 WfY &1 et faded g2

Options :




Question Number : 209 Question Id : 60092910968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faemedl & 9 S A1 7707 9 &7 98t fadwed g2
Options :

IR RINIEE]

2. % WY

3. ¢ QBYIIH

4, % AR

Question Number : 210 Question Id : 60092910969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ot & @ 39 fdshey &1 9u= 3 o fou U IfY-fawde wisg & Ie! IfY &1 fasheu 3
IS + BN

Options :

1. % oIRM
2. % gt
3. % OBy
4. ¥ I

Question Number : 210 Question Id : 60092910969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fasen &1 9u= 3 o fou U IfY-fa=de Wsg & &) IfY &1 fashew 3|




ST + BN
Options :

1. % oIRM
2. % ISt
3. % OB
4. ¢ O

Question Number : 211 Question Id : 60092910970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HITHTAR' H Gl 1 T fobat 52
Options :

1. ¥ 250

2. % 270

3. % 240

4. % 255

Question Number : 211 Question Id : 60092910970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HITHTAR' H algl I T fbat 52
Options :

1. ¥ 250

2. % 270

3. % 240

4. %= 255

Question Number : 212 Question Id : 60092910971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



BT P TN H THSHRT gAdTelt HIH-3T T UfdeTiies 9182
Options :

1. % YR

2. % TR gIiRSITd

3. ¢ 3(ZA-T-3DHR]

4. % JIRMAFR

Question Number : 212 Question Id : 60092910971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AHHR F TR H THBR] earet H-Ht U Ueiiie Ja1 82
Options :

1. % HIdRTT

2. % T UIRId

3. ¢ 3{IS-U-3fheR]

4, % HRMIATR

Question Number : 213 Question Id : 60092910972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & § 1F-4t X B 3 R 8
Options :

I RCRIERIIGI]

2. % I ST

3. ¢ QPATaa!

4. % SRR Sifge

Question Number : 213 Question Id : 60092910972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & ¥ - = HUaE B Rl 82




Options :

1. ® fasr e

2. % I Srat

3. ¥ QPTG

4. % SEIIR Sadfge

Question Number : 214 Question Id : 60092910973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et wnfe 1 giderar food fag{ o1 3R Bid 82
Options :

1. % 91 YR a™

2. % GOARITNIG fgad!

3. % Hq goR areudt

4. A Fod

Question Number : 214 Question Id : 60092910973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feft wnfec &1 3foerer forw fagr &) PR B 32
Options :

1. % §q WHYR 3™

2. % GORIYNTG fgae

3. % g goR areudt

4. ¢ S YA

Question Number : 215 Question Id : 60092910974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 7 D191 U YR HeTed! g gRT forfad 781 82

Options :



1. % gy & it

2. % WIS

3. ¢ 3 Sld Y §
4. % IRTYRAR

Question Number : 215 Question Id : 60092910974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 7 D191 U YR HeTed! g gRT farfad 81 82
Options :

1. % O o gt

2. % IR

3. ¥ Sl hY B

4. % IRIUYRAR

Question Number : 216 Question Id : 60092910975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRITE, T 9 g4 ARIEIRRON T H1 HIH-I1 ATedh ST 412
Options :

1. % I

2. ¥ I8N

3. ® Ighdl

4. % Jgley

Question Number : 216 Question Id : 60092910975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRITE T & Ud AFCTRRUT W &1 & H-91 A1ed ST 1?2
Options :

1. % e[




2. ¥ dgg
3. % gghdl
4. % dgley

Question Number : 217 Question Id : 60092910976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP §g T ITa [haent faveard I ¥Rl 82
Options :

1. % fAda au

2. % A SR
3.v 31
4. % 8J.Igaq

Question Number : 217 Question Id : 60092910976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T g a1 Ioolt e foReard amn e 7
Options :

1. % fyeie anf

2. % A SHIGR

3. ¢ 3R

4, % S1.3gaQ

Question Number : 218 Question Id : 60092910977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fhae! ST 82

Options :
1. % 9% AR
2. ¥ a1 XEl




3. % AT AR
4. % TTISH

Question Number : 218 Question Id : 60092910977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T g SuarT g2
Options :

1. % S5 AR

2. ¢ FaIaTeTd H

3. % AN TR

4. % ATISH

Question Number : 219 Question Id : 60092910978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fobg Bfa B gFTierar &) gorm ‘ol &Y arRiiad & T &) S 82
Options :

1. % g

2. % fogrl

3. % HyOU

4.« T/

Question Number : 219 Question Id : 60092910978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o wfa & gHNaar Bt ga-T ‘&l Bt gFRiedT & Ty &I S 82

Options :
1. %39
2. % fogRl
3. % HyUI



4. ¥ g

Question Number : 220 Question Id : 60092910979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS I H 4R 39 & 1Y HH-91 3 22
Options :

1. % Yiga g

2. % HoUIY

3. % A

4. ¢ YR I

Question Number : 220 Question Id : 60092910979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS I & IR T & 1Y HIH-7 7 82
Options :
1. % Yigq 9
2. % H2UIRY
3. % QA
4. ¢ IR IY

Discipline7
Group Number : 12
Group Id : 600929356
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
Discipline7

Section Id : 600929511

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929607

Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 60092910980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hiar-g9arg | J&fd e T HIH-4 82
Options :

1. % IO B TH I

2. % HgURIH

3. % Rl

4.« Ydreud

Question Number : 221 Question Id : 60092910980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aT-a A ¥ HefId BT a1 HIF-91 52

Options :




1. % YT P TP Id
2. % HEIURIH

3. % et

4.« YdIGud

Question Number : 222 Question Id : 60092910981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI-TT T Hiddl GUE YR T a1 gRT IId T8l 82
Options :
1. % TS B! dfear

2. ¢ 30U A
3. % HIHMIAa!
4. % Ffegi T an

Question Number : 222 Question Id : 60092910981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HH-I1 U HidT TI8 Ta%R AT Ja-T gRT IId el 62
Options :

1. % B &) dfedr

2. ¢ 30 HHA

3. % G A

4. % e R an

Question Number : 223 Question Id : 60092910982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DT Sl BT s Ao Tl 82

Options :

1. % giegmordt



2. ¢ T

3. % YIog]
4. % Ty

Question Number : 223 Question Id : 60092910982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DT JcH BT s Ao Tl 62
Options :

1. % gRarordt

2.« gl

3. % YoTgd

4. % DR

Question Number : 224 Question Id : 60092910983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & S -1 1T a5 1 oy 78 82
Options :

1. % @ fagm

2. ¢ Uard g

3. % Wi fagH

4. % Ug fagH

Question Number : 224 Question Id : 60092910983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 H SI-91 L1 T o1 faum 78T 82
Options :

1. % @ fag

2. v uard e



3. % WA fagH
4. % Ug fag

Question Number : 225 Question Id : 60092910984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS faferom wios wel fud 82
Options :

1. % 9

2. % fagR

3. & DIl

4. % facudl

Question Number : 225 Question Id : 60092910984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢ faferm Bio del fud 82
Options :

1. % I3

2. % fogR

3. ¢ Pl

4. % ool

Question Number : 226 Question Id : 60092910985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg fafy 1 fgdl b1 IPHTST & U H WibR fobar T
Options :

1. # 15 3 1947

2. % 30 STaRT 1948

3. % 26 SaRI 1950



4. 14 ISR 1949

Question Number : 226 Question Id : 60092910985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg foifer o1 f&ct bl TFHTST & U | Wb fobarm
Options :

1. # 15 3R 1947

2. % 30 STaRT 1948

3. % 26 SART 1950

4. ¥ 14 THAR 1949

Question Number : 227 Question Id : 60092910986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HERTY & auf § fRyd rgHIwT veR wiAfar S o web fidl 9t Gt 5, S9! WIeHl e §s?
Options :

1. * 1950

2. % 1947

3. % 1963

4. ¥ 1936

Question Number : 227 Question Id : 60092910986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HERTY & auf # fRyd rgHIT veR wiAfar S o web fadl 9t Gt &, SUd! RIeH o4 gs?
Options :

1. % 1950

2. % 1947

3. % 1963

4.+ 1936



Question Number : 228 Question Id : 60092910987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fESt HTST BT PIH-T1 U 7o' T UHIRIG glar U2
Options :

1. ® YRA-foe

2. ¥ fgaM

3. % fiEfaam

4. % gxr-fgast

Question Number : 228 Question Id : 60092910987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEdt HTVT &7 DIH-T7 U3 $70iS T U1 glar U1
Options :

1. % YRJ-fo=

2. ¢ eI

3. % fip-faemg

4. % TRI-fgadl

Question Number : 229 Question Id : 60092910988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R HIRCiTY gt TRAT T BT R fooe Bl
Options :

1. ¥ HRd GXbR

2. % BRI WHR

3. % AR TWHR

4. % i TRDR



Question Number : 229 Question Id : 60092910988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{REe HRCiTY gt TRUT TY DT RITT foo e B
Options :

1. ¢ HRd IRXHR

2. % BRI WHR

3. % HIRTY WBR

4. % Jiciep] TWHR

Question Number : 230 Question Id : 60092910989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 7 T H1-I gfaor v 78 22
Options :

L % 539G

2. % d

3. % HeldIcH

4. ¢ 1=

Question Number : 230 Question Id : 60092910989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 7 T - gfgor v 78 82
Options :

L % $5g

2. % dq

3. % HcldlclH

4. « Ryt

Question Number : 231 Question Id : 60092910990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

"YTYT-fIRT HTT Y IR, ITD! F1dC, I [AHT TUT ITb B Pt I AR Rl ¢ 1" fbaap g1 foifad are g2
Options :

1. % IR faferqm si=g

2. ¢ Sl WYX G

3. % TS < Rl

4. % I YT faarR

Question Number : 231 Question Id : 60092910990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"UTT-FIRT HTST Bt Iafy, ITD! §Tae, ISP fABI aUT I BT o1 I ReT Bl g 1" forgss gR1 farfad araa 82
Options :

1. % IR faferow S

2. ¢ . WY G

3. % T <d ARGl

4, % 3. YiammYy faast

Question Number : 232 Question Id : 60092910991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S TRI & IR H g3 TR I AU 3 TAT TP T A1 § S& 1 Hed 82
Options :

1. ¥ &

2. % gd

3. % d

4. % HA

Question Number : 232 Question Id : 60092910991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

RO TRl & SR H g WRI § TIHT 3 TAT TS 0T T § S0 31 Hed 82
Options :

1. ¥ &

2. % gd

3. % d

4. % HA

Question Number : 233 Question Id : 60092910992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST Y YHTIRIA g aTell Wife e ufiet HiH-3 Ao
Options :

1.¥3g

2. % H¥YaY

3. % HHAR

4, ® Hddrcl

Question Number : 233 Question Id : 60092910992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI Y YHIIRIA g1 drell wifefdies ufiet wiH-3 oo
Options :

1.¥3g

2. % Uy

3. % HHAR

4. % Hddlcll

Question Number : 234 Question Id : 60092910993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&t T gHUR Hfar ford FgT e 32
Options :

1. % 3R

2. ¢ YiEHe ud

3. % % Tl

4. % SOR[PR YIIq

Question Number : 234 Question Id : 60092910993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et T YHHR B 58 gl Sfrelr 32
Options :

1. % 3R

2. « GiEATG Ud

3. % = XA

4. % SIOYDHY UG

Question Number : 235 Question Id : 60092910994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I &1 US H @ 9 U18 3N1f, At RN 5a 115, T4 FRmeR yifl| - & $1H-91 s 82
Options :

1. % JHET 3SPR

2. % fqUIGT 3R

3. ¢ A=Al PR

4. % HFAIBRUT 3SADR

Question Number : 235 Question Id : 60092910994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1AM &1 Ug B @ 9 U183, Akt RN 57d 715, T4 FRmeR yifl| - § $1F-91 s 82




Options :

1. % IAE DR

2. % fqYTGHT 3[AHR
3. ¢ Jffadifad S[EdPR
4. % AHAIH] ADR

Question Number : 236 Question Id : 60092910995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg e o Tt aRuT # quil ot W1 Fad Tl & SR DI g B SR $IF %, I8 Hi3d 3gd1 g2
Options :

1. % 3futie g

2. % Had 9q

3. % HIFA® ©q

4. ¢ I0® B

Question Number : 236 Question Id : 60092910995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg e & Tt =Rl # quif o T Fad Xeelt & 3R DI @Y 1T 3R DI %, I8 FfEd @ 82
Options :

1. % Jfufie g

2. % I ¥q

3. % HIfFA® &q

4.« Tl &g

Question Number : 237 Question Id : 60092910996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"START AR fheds gRT farfed Sitat 82

Options :



1. ¢ fau gUTHR
2. % A MuTd

3. % A

4. % 39 foary zrHf

Question Number : 237 Question Id : 60092910996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"STIRT ARiteT fhas gRT fafad shasi &2
Options :

1. ¢ faw] UyTHR

2. % Hed MUt

3. % AHHIM

4. % W faarg <mi

Question Number : 238 Question Id : 60092910997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S{TATd IFE YA B AT AHS SATaIAS Hia o [ S g2
Options :

1. % dH

2. ¥ Uld

3. % YId

4, % IR

Question Number : 238 Question Id : 60092910997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST IS Yo B "REHHT A SIS Hid H fhd- 3¢ 82

Options :

1. % d=




2. Ulg
3. % grd
4. % IR

Question Number : 239 Question Id : 60092910998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[eg ek & fova ThR 2

Options :

1. %5

2. % 4

3.3

4, %2

Question Number : 239 Question Id : 60092910998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a5 ek & fova ThR 82

Options :

1. %5

2. % 4

3.3

4, %2

Question Number : 240 Question Id : 60092910999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"TIHY GIY:" 37fd T & UHYE GIY Hadld o T & o T8 Iy fhged gRI Hid 82
Options :

1. ¢ 3T fagmy

2. % 3T HHC




3. % I AR Yo
4. % yar ugre fay

Question Number : 240 Question Id : 60092910999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"IYTIHYP GIN:" 37U I B AUHYS Y Hedld 5| I9 P JoY T8 a1 fobes gRT HAd |2

Options :

1. 3R fagy

2. % 3fTAd 7T

3. % 3fER HAS Yo

4. % Hg UG Ay
Discipline8

Group Number : 13

Group Id : 600929357

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline8

Section Id : 600929512

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929608
Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 60092911000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" oI Tl &S AdS 9 PR YU | 739 983 39 Yd I oifad Aiad 9| " H DHIH-I7 3AHR 82
Options :

1. % 3fifad SAdR
2. ¥ U 3ADR
3. % JHIET DR
4. % qH® DR

Question Number : 241 Question Id : 60092911000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" IS HoH &ol Aol U IR YU | % 98 39 Yd Iex Siiad ad U | " H HIF-97 AR g2
Options :

1. % 3Iad ABPR
2. ¢ U ADR
3. % I AADR
4. % gD ABR

Question Number : 242 Question Id : 60092911001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR AT AT o, GRoft 4R v




dig B, High, 37 o, e O - H H19-3 39 B! 3ifiyeafa g3 32
Options :

1. ¥ IR

2. % gAY

3. % H2UI Y

4. % R

Question Number : 242 Question Id : 60092911001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR T dTd o, GRaft Uk v

Ts TR, g, 37 3, A W) - A D9 X BT Sfafad g8 82
Options :

1. PRI

2. % gAY

3. % H2UIRY

4. % 4RI

Question Number : 243 Question Id : 60092911002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

*fd, BT, TN 3N1fe WA HIdl DY UHTRIC T ek B alell 313 BT AVTE AT Hgellell 52
Options :

1. ® faumg

2. ¢ 3HJHId

3. % QI Y9

4. % TR Hra

Question Number : 243 Question Id : 60092911002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ma, BT, Wb 3fe R UG BT USRI AT e B dTelt 1YY b1 AP T BTl 82
Options :

1. % faquma

2. ¥ 3HE

3. % R UG

4. % TIRI 119

Question Number : 244 Question Id : 60092911003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g a1 A - Treg W 82
AP YT B

Options :

1. % RTed oG
2. % Sl

3. % 3ffHyeT

4, &N

Question Number : 244 Question Id : 60092911003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 a9 § HH-4t Weg Wfad 82

D YT |

Options :

1. % Tedf] G

2. % oAl

3. % 3T

4. & AU

Question Number : 245 Question Id : 60092911004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e ¥ Faftrd ool ar 4 iR 99 a8 & foIT ST UsaT B, 39 T & R &) 1 $gd 82
Options :
1. % b
2. ® gad
3. ¢ Ofd
4. % fquyg

Question Number : 245 Question Id : 60092911004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oq  Rafiyd 9of a1 Aen iR 9i9 o9 & T 61 USd1 8, 39 36 & R &I o1 Hed 82
Options :

1. ® b

2. % Had

3. ¥ gfd

4. % fqun

Question Number : 246 Question Id : 60092911005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"I TG B I fohRUl Wl Tg ot - Y - DIF-HT SADBR 672
Options :

1. % JToicR] 3ADR

2. ¢ U ADR

3. % JH® 3MADPR

4. % FUPH 3D

Question Number : 246 Question Id : 60092911005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

"I G B I fohRUl Wl Tg ot - Y - DIF-HT SADBR 672
Options :

1. % JToick] 3ADR

2. ¢ U ADR

3. % JH® 3MADPR

4. % FUPH 3D

Question Number : 247 Question Id : 60092911006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fE<t U=TRdT BT Ug TRUI e T Hd db &b THT I HE Jbd 82
Options :

1. % 1726%. 9 1773 5. 9P Bl

2. 1826%. 9 1873 5. dF Bl

3. % 1926%. 91973 5. 0P B

4. % 1800%. 9 1826 5. AP &I

Question Number : 247 Question Id : 60092911006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

St TATIRAT BT Ugdl IR0 Ha I Hd aP & IHI B! HE Adhd g7
Options :

1. % 1726%. 9 1773 5. 96 DI

2. v 1826 3. ¥ 1873 5. A I

3. % 1926%. 9 1973 3. A% &I

4. % 18003, 9 1826 5. 0P DI

Question Number : 248 Question Id : 60092911007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fop it TR, ST A1 4T & U &1 UeiRid e & fore ford g faen &1 Ui fear Srar g |
Options :

1. ¢ Ui T
2. % foqu= oeA
3. % PHTog g
4. % IUGR oaq

Question Number : 248 Question Id : 60092911007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot TRIT, ST 1 YT & TR &1 UeiRid & & ot forg g faer &1 Suai fear S g |
Options :

1. ¢ RO e
2. % foqu oeq
3. % B a
4. % IO oRa_

Question Number : 249 Question Id : 60092911008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeled § 4 =2y 3R Yo AIegH S1H-91 82
Options :

1. ¥ GRGRHA

2. % A3 yIRY

3. % faqoe o

4. % 3G oG

Question Number : 249 Question Id : 60092911008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad & O 29 8iR YT HenH HIH-91 82



Options :

1. ¥ GRa]M

2. % SN TR
3. % faque o
4, % TG

Question Number : 250 Question Id : 60092911009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1909 H STRIHR YTG A food UfAhT DT YebT=H T
Options :

1. ® §igd

2. % JHC

3.¥3g

4. % YHYDTR

Question Number : 250 Question Id : 60092911009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1909 H STIRIAR UTG A fobg UlehT T YT fovam
Options :

1. % §gd

2. % A

3.¥ 3¢

4. % YHIHTR

Question Number : 251 Question Id : 60092911010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TETHR & A gl & SR AU Y famed! & § ®F 91 fased Tad g2
Options :




1. ¥ TR & SR AIETHR G- aTel fad 1 Slfd, S 37ar e Td el o Tt Uy U ST 9 g
2. % T TP R & Tt & N TR b1 3T I WY BT 1T

3. % FOOPT &M@ R 1 BT ST DR S1aT gRHTY ¥ WU R1Ud R [afd, I07 vd ®iF ¥ w= o= =g
4. % FIYTHR P I GIHI BT UG Td T g1 3Maa g |

Question Number : 251 Question Id : 60092911010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DR & AR FIE] & SR U 7 fdsed! & ¥ 31H 91 faded 7ad 82

Options :

1. ¢ TETHR & SR ATETDHR o a1 fad 1 oflid, 4H UaT AfadiTd Sl & T Uy e o 9d g
2. % U WP R & Yoo T He A1 o 301 S5,]9 ¥ BT Mg

3. % fOPT TETh R -1 81 ST FHadx S1ar grUTY ¥ e RATUd HR [afd, THa ud ®i fAf3d & o= =@nfgul
4. % DR & THI &I BT TR Td Tgol 811 SIS ¢ |

Question Number : 252 Question Id : 60092911011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEt & 3Mep Aot U S - YRAfE, R, IRaded sanfe YRd # wal 3 UhTRId gU &2
Options :

1. % ool

2. ¥ HADI

3. % ORI

4. ® HgTH

Question Number : 252 Question Id : 60092911011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g & 3 dored! U5 oY - HRATHH, IRYUTATY, Ifadaddr gare YRd § &gl 3 UHIiRrd gu a2
Options :

1. % foeal



2. ¥ BBl
3. % OTRIM
4. % HERE

Question Number : 253 Question Id : 60092911012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 9 food THER UF & UTesh S19 ST a & ol 32
Options :

1. % YIR-FAR

2. % YRAHA

3. % g} STari

4.« Goflat

Question Number : 253 Question Id : 60092911012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 3 fordd THTER U5 & AUTed §19 SIaHE 6 & ol 32
Options :

], % RGIR-FAR

2. % YRAHA

3. % g} STart

4.« Goflat

Question Number : 254 Question Id : 60092911013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T § RV G 89 & 1Y 3R [ oe® A TF § TR 1S TS [0 62
Options :

1. ¢ St Hord!

2. * SIS Iroud!




3. % ol AT I

4, % YR ot

Question Number : 254 Question Id : 60092911013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 A RV IR ¢S & 1Y 3R b e A U3 9 Wb A Y ford 82
Options :

1. ¢ Byl Furdt

2. % SffIIBIURITG areudl

3. % Sl HAG

4. ® YeATR St

Question Number : 255 Question Id : 60092911014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR H TSl ST I 1556 H Bl Gar?
Options :

1. ® &g

2. ¥ Tdl

3. ® G1SH

4. % TGRId

Question Number : 255 Question Id : 60092911014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA H USal ST 9 1556 H Hal Ga?
Options :

1. % gag

2. Tl

3. # YIS




4. % TORId

Question Number : 256 Question Id : 60092911015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IoHIfA® gt "3iTe (1921) & HUTESH HIF U2
Options :

1. % 3fTard meTaRyTE fgadh

2. % UfSd WUARMEU Uiey

3. ¢ WG STeRTG fqw] WIs

4. % q1g HIdR™

Question Number : 256 Question Id : 60092911015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS TfeT "3Tel" (1921) & JUTGs DI U2
Options :

1. % M HEARYNIG fgda)

2. % UfSd SUARIIU Uisy

3. ¢ WG STeRTG fqw] WIeaHw

4. % g9 didR™

Question Number : 257 Question Id : 60092911016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEY TEH 3T T B UG & TR WG T U $ER-3R Tl gs I Aarsh W faerar gaar g 1" feve gr1 fafed area g2
Options :

1. ¢ ST S Yad

2. % TgeR THET TRt

3. % dqgaR areud

4. % YdR YR




Question Number : 257 Question Id : 60092911016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ey TE® U T B UG & TR WG T U $ER-3R Tl g3 P Aareh W faerar gaar g1t feee gr1 fafed asa g2
Options :

1. ¢ 3T IHd% YEd

2. % TgeR THET TRt

3. % dqgaR areud

4. % YR YR

Question Number : 258 Question Id : 60092911017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ugd Tl-ATRID-U T &1 714 Y12
Options :

1. ¢ STcTee

2. % SHidad gul

3. % TR

4. % fgdiudiy

Question Number : 258 Question Id : 60092911017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g WAl-HAIRIG-UF &1 &7 AT Y12
Options :

1. STcTaerT

2. % PHidad guT

3. % JREC!

4. % fgdiudiu



Question Number : 259 Question Id : 60092911018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o Trsg fad B! Ui T Ugd g3 Bl &7
Options :

1. % S

2. ® q&un

3. ¢ YT

4. % fofgd

Question Number : 259 Question Id : 60092911018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fora Trsg Tfda Pt Ucifa Yol Ugd g3 Rl /2
Options :

1. % ST

2. % A&

3. 3T

4. % fofgq

Question Number : 260 Question Id : 60092911019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TARY HTal Bt FT faa! J1T ST 82
Options :

1. % a4

2. % 1

3. ¢ ddg

4. % T

Question Number : 260 Question Id : 60092911019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR UTa T TReAT faraet A STt 62
Options :

1. %

2. % 1

3. ¢ ddN

4. % U=g

Discipline9
Group Number : 14
Group Id : 600929358
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline9
Section Id : 600929513
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 12
Number of Questions to be attempted : 12
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1



Sub-Section Id : 600929609
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 60092911020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1o o SHIIRID Uec| T YANT 81 TR HIH-TT &Y Il 82
Options :

1. % YdYad

2. ¢ 3fIPUGH

3. % 3PpHA

4. % g&pHd

Question Number : 261 Question Id : 60092911020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT § ST Tec] BT TANT B4 UR HI--T1 &Y §idl 82

Options :

1. ® YdUad
2. ¥ HfUPUST
3. % 3HbhHd

4. % gSHAG

Question Number : 262 Question Id : 60092911021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fam el T 9§ gt HIcahH o1 IA1d Diforg
Options :

1. % Wel-gHId-eRY-3RE

2. ¢ GHRIA-WIel-3RII-ZRY

3. % WAI-3RE-BRY-GDHRId




4. % gHRId-3RI-WI-gRY

Question Number : 262 Question Id : 60092911021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T fdemedl U A Hel HIeishd DT AT DI
Options :

1. % Tel-gHId-gRY-3RE]

2. ¢ GHA-TTI-3R-ERY

3. % WCI-3RE-BRY-GDHRId

4. % GHRd-3RII-WCI-ZRY

Question Number : 263 Question Id : 60092911022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHBUN T BT RITT TG T 82

Options :

1. #® UM

2. ¥ Qb

3.% ol

4. % FEIYd

Question Number : 263 Question Id : 60092911022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HHUT I BT VIR 4T R 52

Options :

1. % H2UM

2. ¥ b

3. %

4. % FgTgHfd



Question Number : 264 Question Id : 60092911023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

33 B BT B AT AR a1 3R B A2
Options :

1. % 3 fay=my

2. ® HIEEN

3.« g

4. % FUTHS

Question Number : 264 Question Id : 60092911023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 B BT BT AT A a1t R B A
Options :

1. % 3R YTy

2. % HGa™g

3. ¢ g

4. % OIS

Question Number : 265 Question Id : 60092911024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & § ® -1 fagH diad &I 916X i 3% 7 AHHR 99 & HidR &1 a¥g a1 82
Options :

1. % 3T geRivaTe fgdd

2. % =g gAR dTolud!

3. ¢ S AR Yo

4. % I WHYR G




Question Number : 265 Question Id : 60092911024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 & ¥ o1 fagH et & 916% &1 a¥g 7 AFR 79 & HIdR &1 a¥g A1 82
Options :

1. % 3eTd goRIv9TG fgac!

2. % =g gAR dTelud!

3. ¢ S AR Yo

4. % qIq WM a

Question Number : 266 Question Id : 60092911025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH A B AT YR SRR BT AUSH g 67
Options :

1. ¥ YHd

2. % g

3. % qeplfckl

4. % Jfa

Question Number : 266 Question Id : 60092911025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH ¥ D A1 YR BTG BT GG ol 62
Options :

1. ¢ HId

2. %

3. % qeplfek

4. % Jfa

Question Number : 267 Question Id : 60092911026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

DI & "I Rigid” &1 frgd HRAY Hrouxmdy Rigid § SieT Si1dT 61 82
Options :

1. % Yol

2. % GO

3. Hdb

4. % A

Question Number : 267 Question Id : 60092911026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

id & "3 Rigid” o1 fhad HRA SRR Rigid 3 ST ST 361 82
Options :

1. % Ui

2. % gH%

3. ¢ Hdd

4, % drH-

Question Number : 268 Question Id : 60092911027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T3 e & el ®IF T SId 82
Options :

1. % DIANRS

2. % B

3. ¥ gferae

4, % 3ggad

Question Number : 268 Question Id : 60092911027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
T3 e & STHErdl ®IF T Sd 82
Options :

1. % DIANRS

2. % B

3. ¢ gferae

4, % 3ggad

Question Number : 269 Question Id : 60092911028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Td 3§ T e feg yTeT B ]2
Options :

1. ¥ Wi

2. % JOY

3. % YIS YR HToTY

4. % fgdl

Question Number : 269 Question Id : 60092911028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
d I T e o yTeT 182
Options :

1. ¥ W

2. % OYY

3. % 3MYFH YR HToTY

4. % fgdt

Question Number : 270 Question Id : 60092911029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3Fidedt UgTe & fhy ATcd ot U g2

Options :

1. % oIt

2. ¥ ThalWd
3. % Yo
4. % faemg

Question Number : 270 Question Id : 60092911029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dgdr TG & 5 ATeed &1 U 8

Options :

1. % gl

2. ¢ Whal W

3. % ¢aaneH

4. % fasmrg

Sub-Section Number : 2
Sub-Section Id : 600929610
Question Shuffling Allowed : Yes

Question Id : 60092911030 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (271 to 275)

fRfRed sfaavur & erryde ufeu SR 9 Wafid us & f3u U agfawed # ¥ 98! fadwen &1 gy

YR TS H a1l Bl YRR S & Ul Hal ¥ SERATAT 3R =ehT &1 dTdTaRur 381 8 | 3HTH AT & YR 8] 8 b Harsf &bl
fRIférd 9 1 BIs Y T8 8| S0 al Sfdld: Jeg-dldh W WG o1 5 | Ta&! U7 3R gal =1 fR1en & a1 X8 g1 31T uRRafdr dgem
3R WRBR & BT 14T b Ufd STRAT@ DI THRAT I o & URERT §aall ¢ | -1 FRIal D1 e f6d H 4 TRie sgrail ol i Riféra
B BT AR UT g3 & | 39 JuiRond off T 3138 51 A8 SR Teidhal & RIS SUTd & T 311 38T 8 | F<led e 3 @ &
H-arall B e feam & forg vienfed fovan g1 fOhR ot pat firarass ooy Smesie 18 g o Udhd | TSR Iod SORUSR H 6=
e o 3F% NTeadd HeH Io1 T | STETS & FReh Arsied far ST, 3o e @1 of fFgless = o Tt & Ao 8|




e (e TRIGT AT ST D1 URH B & fo1T 781 8 | I7eb! a1l o Uich FHAIGI DT Hi S&er1 1| TS b 3R TS b1 b HGHIT Pl
fAreTan S quT <o UYT WR 4 wo R gz fasar S avt mt e e &1 qR1 v 33T Ui |

Sub questions

Question Number : 271 Question Id : 60092911031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG & UR ASfBal B! RATT BT 3l ATHEAS el 82
Options :

1. % e 3P e} B3 gl 3

2. ¥ AT I Dlg TIGR DI B - HRb NG °OR BT B gf HRAT §
3. % e ASfehaT GER TR ST 3R Tgeh 30 &1 TR g a1l ©
4. * TSl Bl UQrE B faaed i wic Tel 8

Question Number : 272 Question Id : 60092911032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fohg PRI AT 3T Sfeat @ e faam & forg TR gU Y
Options :

1. % T3fhal & fagig & SR

2. % 3B Al &b HROT

3. ¢ e g & RO

4. % TSiHUl Pl Wpd oM F URaR B U e € gafee

Question Number : 273 Question Id : 60092911033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P Agichdl (H:Yeeh &M BT T MY IoT Yebell 62
Options :

1. ¢ 9d fee ol @ fovar siem

2. % [q 3Ig SIeRGd! Tg- Holl SITE

3. % T 38 W & DA I YR aRg o fohar e




4. % Tq 3¢ b T AR UgTa!

Question Number : 274 Question Id : 60092911034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ Tu fgswedi ¥ § HH-U1 ISR &1 JHHR 2ee 781 82
Options :

1. % Yidfrd

2. % fq¥ad

3. % fqrn

4.« AHHdd

Question Number : 275 Question Id : 60092911035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau TN ergwe &1 e Wivw fafay
Options :

1. ¢ F:xep o= e & uRoma

2. % I B3l D (- e TRA&M

3. % fRrem org

4. % 19 AP

Question Id : 60092911030 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (271 to 275)

FafifEd SaaRur &1 ergde ufey SR IR TR usif & U 7 sgfacent & ¥ It foweu 3 gy

YR FHTS H g1l bl YRIGT S & Ul FaT Y SRIT 3R LfehT 1 ATA1aRUT 8T 8 | 31 AN B YRN G1 § fob H=a1afl bl
fRIf&rd 9 1 BIs Y T8 ¢ | So a3l Jeog-didh H G o1 § | Ta&! U7 3R gool o1 fR1e & 14 X8 1 31T URRaiar dgam
IR WHR F FH=1 e & U ITReId B 1iRar ¥ A7 & uResa agar 8| =1 R &1 Fges ford o @ e s & oft Rifaa
B T AR YT g3 3 | 3P JURUMH 1} T 31138 8| TSdh 3R Aafdhal & el 3urd H Ida- 3181 7 | e Riam 3 @ &1
H-a137 B! e feam & fore vienfed faran 81 iR +ft ot e ufRome ScmgsHe 16l de off Udhd | TSI I STRUGRT & S




fRI&M T 3 MATGIGAD HeH IS8T T | BETSH DI e Arsfdbd faa1 ST, 3= Rief & 1 Fgles s 31fg Tt 81 aeHe 5
e f:gLech RIET AT ST 1 AR B & 1T 781 8 1 I7b1 =13l o Ul HAgicl bl Ht SEe1 81| T 3R TS 1 o HEHTd Bl
foreTar S a1 gas YU IRt B3R fFei=or fasar sl auft s=amd (Ao R1am &1 @1 ard 337 arkft|

Sub questions

Question Number : 271 Question Id : 60092911031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG P TR ASfB] B RIS BT I ATHGID ol 82
Options :

1. % i ITb! WS HRA Bl 8

2. ¢ AT IE BIg GG BT HH 7 HIP U TR BT HIH 81 BT 8
3. % N TSHUN g TR ST SR ASb 30 B TR I8 a1l ©

4. % TSfhal o1 Ugls &3l [aaed i tiie T8l §

Question Number : 272 Question Id : 60092911032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg RUT aNT ot Sfedt ol e feam & ol R gu &
Options :

1. % dsfhyl & fagig & HRU

2. % 3! AT &b BRI

3. ¢ e RUE & RO

4. % TSfhdl o) Wpd YolH ¥ IRAR &1 0¥ fied € 39fo

Question Number : 273 Question Id : 60092911033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e TSiBal (:Y[eb RI&T BT IR ATH IST Jhell 52
Options :

1. ¢ §d feTHG ol W fodn Smaem
2. % Tq 35 STaRGw( UG NSl ST




3. % T 38 TR & DM U YR aRe o fobar Se
4. % Gq 3Ig fR1&fh WG TH YTl

Question Number : 274 Question Id : 60092911034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T fgwmedi § § HH-U1 ISR &1 IHHRif 2ee 781 82
Options :

1. % Yidfrd

2. % favad

3. % U

4. AHHdd

Question Number : 275 Question Id : 60092911035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fU TN Srfw5G & I RN fIray)

Options :

1. ¢ F:x[e o= e & uRoma
2. % I Hredi b (A eh fRuaf

3. % RIS

4. % fRrem 9 STeTH

Sub-Section Number : 3
Sub-Section Id : 600929611
Question Shuffling Allowed : Yes

Question Id : 60092911036 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (276 to 280)

fufoRed FHrear & erFyde ufeu iR I Twiferd usi & fou U sgfawenl §f ¥ Uel fawed &1 gy
g Siie- 1 g2 FAgR 8, Al €1 391 Uil 8, JW-g8 & ol dRl § °d X7 I8 HAHHT 8




&4 Bl MR & SiaR F2 for e T Iav1 1, ford o1t 9 98 o S 9 dd § 304 &1 Wi |
Frsie o 1ft B Sfia 8, a8 S srga Sl 81 ¢ T fth & 9ei &1, 3ot w&ft H Tt 81

YT & US| § ASdl, 7 & US| § <HIdl, dgdl TR I dl, IodT I S AGHTAT|

AR IS T, f?R—cﬁ%' Wafu?u@ﬂm% GGl aw%em ek sgar gt smar g

1SR Padl & 9¢ Ial 39! 7d 0D GSH, Aia Sl § ¢ Ia)! rd) 7 a1 8N a9l IR
AT & Had I 21 e Teal 81 X8dT €, I T & TR o 2, FiER 98 SRaR wear t|

Sub questions

Question Number : 276 Question Id : 60092911037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STy H SR g Sitad # o1 GHMHAT 918 7% 67
Options :

1. % GHl Ty B

2. ¢ GFI ¥ HAaTAIYH §

3. % F A SR 3

4. % gAIA UG

Question Number : 277 Question Id : 60092911038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIAT & AR 3R &8 71 < ST 82
Options :

1. % SIYT37 Dl el BT

2. % §I9 H S o &1

3. % SR Ul ¢ &l

4.« F&d M g BT

Question Number : 278 Question Id : 60092911039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" Hedl § §¢ el Jral 7d 1 g el B



Ufad &1 a1 31 g2

Options :

1. ¢ GOHM &l ¢@l, HidsT &1 7d Ji=l

2. % Yoy ot TN, ITHHE DI Tl

3. % gfe g A i3S § dl 3 SN 3 7d 9!
4. % AR F S A 3IF §

Question Number : 279 Question Id : 60092911040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T fament H § SH-91 IHdd BT faa Weg 72
Options :

1. % 9R9

2. % YUIc

3. ¥ @l

4. % dUc]

Question Number : 280 Question Id : 60092911041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T b1 IfI 2o I
Options :

1. % R F1a

2. ¢ TAd | gl oilaT 8

3. % I[g DI DA

4. % Gig- P Sfad

Question Id : 60092911036 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (276 to 280)

fafRed Frear & eyde ufey ok 39 Twiferd usil & fou T sgfawenl § ¥ Tel fawed &1 gy




g Sita- 1 52 TSR 8, Al 81 391 U &, YU-g8 & ol dRl 4 Id 387 I8 TT9H! 3
&d Pl R & 3R A2 by igd I IaR1 -, ford 91ct T 98 R 11 9Hdd § 3104 &l i |
72k & 71fa § Sfia= ©, 98 oM Sgd1 ST § 1 47 U Rath § - &, 3o 1t # Mt g |

YT P sl A TSdl, 99 b sl J THdT, Igdl I R Igdl, IldT aigd I HeHTdT|

Tes 334! 8, TR €, A1fae dc IR Usdrdl 8, a9 didd g¢dl § 3, Pk sedr gl S gl
gk Pgdl § 9¢ Tal <1 7d NS Geaw, g Hedl 8 9¢ Ial! Jral Ad o1 81T Id |
I § Had I g1 Siia Iadl 8t gl 8, 3P ST g TR o1 ©, (SR I8 SRR Hedi g

Sub questions

Question Number : 276 Question Id : 60092911037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H1eaTer 7 g g Site & o1 FuHd §drs 7 8
Options :

1. % T THHY B

2.« I ¥ AaTanTH

3. % SH1 B IeriFar

4. % GAIH U

Question Number : 277 Question Id : 60092911038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PTI b IR FER g8 o gax a1 8o

Options :

1. % 13l B ol BT
2. % g H ¥H O @I
3. % TSP U ¢ &l
4. ¢ F&T M TG BT

Question Number : 278 Question Id : 60092911039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"GIgT HEdl g I¢ Il T A 1 I I HR |




Ufad &1 a1 31 g2

Options :

1. ¢ TR DI ¢, Hiaw S Hd Il

2. ® Hfosg &Y A, IHE B Tl

3. % gfe g W HidTs g o S 3N 31 Ad § !
4. % HETE Y SRAA3NE §

Question Number : 279 Question Id : 60092911040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T fament H § SH-91 IHdd BT faa Weg 72
Options :

1. % 9R9

2. % gUrc

3. ¥ T

4. % 9Uc]

Question Number : 280 Question Id : 60092911041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T b1 IfI 2o I
Options :

1. % FRR @19

2. ¢ TAd | gl oilaT 8

3. % I[g DI DA

4. % Gig- P Sfad

Teaching Methodology
Group Number : 15
Group Id : 600929359



Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 281 Question Id : 60092911042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who popularised 'teaching machines' in 1954?

Options :

1. # Ivan Pavlov

2. # Sigmund Freud

3. # Albert Bandura

4. ¥ Burrhus Frederic Skinner

180

No

20
No

Teaching Methodology

600929514
1

Online
Mandatory
20

20

20

Yes

1
600929612
Yes



Question Number : 281 Question Id : 60092911042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fea 1954 T TRreor a=fi &1 A g s/
Options :

1. % 39 Urgela

2. ® R pras

3. % 3fcEC §gxl

4. ¥ §g heR® R

Question Number : 282 Question Id : 60092911043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method is based on the philosophy of pragmatism and the principle of 'Learning by Doing'?
Options :

1. # Assignment

2. ¥ Project Method

3. # Discussion Method

4. % Demonstration Method

Question Number : 282 Question Id : 60092911043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI It fafd s drare & g iR ‘&R & R & Rigid o 3nemia g2
Options :

1. ® SRAYR

2.« Ut fafe

3. % Uil fafy

4. % yeRH fafy

Question Number : 283 Question Id : 60092911044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Who coined the term 'scaffolding' ?
Options :

1. # Lev Vygotsky

2. # Noam Chomsky

3. % Jerome Bruner

4. # Jean Piaget

Question Number : 283 Question Id : 60092911044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o TS Tsg Q1

Options :

1. % forg argTiceh!

2. % FISTH AR

3. SRIT TR

4. % Al

Question Number : 284 Question Id : 60092911045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which function of Language conveys attitudes and values?
Options :

1. # Affective function

2. ¥ Evaluative function

3. ¥ Cognitive function

4. % Directive function

Question Number : 284 Question Id : 60092911045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HTNT BT B A1 BT BP0 R T bl e DRl g7
Options :

1. % guTe Sl

2. i B

3. % GYFATHS B

4. % TS B

Question Number : 285 Question Id : 60092911046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which language is known as 'Instinct Language'?
Options :

1. ¥ Home Language

2. ®* School Language

3. ¥ Standard Language

4. % Acquired Language

Question Number : 285 Question Id : 60092911046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I UINT R ae e & 8 A ST STl 82
Options :

1. & HIqJ HINT

2. % fa=grery HTeT

3. % HHD HIHT

4. % UG YIS

Question Number : 286 Question Id : 60092911047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the context of first-language acquisition, the four skills are most often acquired in the order of




Options :

1. #® Listening Speaking Writing Reading
2. #® Listening Reading Speaking Writing
3. ¥ Listening Speaking Reading Writing
4. ® Listening Reading Writing Speaking

Question Number : 286 Question Id : 60092911047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y- HTYT SRR & e H, IR DIRA HRR & o0 H U fhu STd § |
Options :

1. % 1 ST o UgHl

2. % A UG STl o]

3. ¢ AT ST U1 g

4. % G UG G dleH]

Question Number : 287 Question Id : 60092911048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which approach focused on 'empowerment' or increasing the agency of women and giving them the power to take control of their own lives ?
Options :

1. # Human Rights Based Approach

2. # Women in Development Approach

3. # Post-structuralism and development

4. ¥ Gender in Developmental Approach (GAD)

Question Number : 287 Question Id : 60092911048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore I A TRIfGqHROT a1 ARl & fHHI B T 3R I8 M0 S WR G0 A &1 Wfad & IR & dhisd fbam

Options :




1. ® gHEAYHR YR IUFTH

2. % faHTITHS U H Afgand

3. # fqOTEATare 3R faer

4. ¢ fdHrTAS IUNH H foiTT (GAD)

Question Number : 288 Question Id : 60092911049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is usually centered on conceptions of feminity and masculinity, although there are exceptions and variations.
Options :
1. # Gender analysis
2. % Gender Dynamics
3. ¥ Gender Role
4. # Gender Equality

Question Number : 288 Question Id : 60092911049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR TR Wi 3R Yud &t YRumsit R Hiad g, 7 39 sigare 3R fafdyart §1
Options :
1. % fefi faRamo
2. % offiiep Tt fagm
3. ¢ qiffTe YT
4. % IR S

Question Number : 289 Question Id : 60092911050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which section of Indian Penal Code, no person can disclose the name of the rape victim?
Options :

1. % 114-A



2. % 327(2)
3. % 164A
4. v 228A

Question Number : 289 Question Id : 60092911050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTT <8 Wfeal &t frg 4R1 & ded 1s i safad SaTepR WIS & A4 &1 GarT 78] &R Tl 82
Options :

1. % 114-A

2. % 327(2)

3. % 164A

4. ¥ 228A

Question Number : 290 Question Id : 60092911051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of portfolio is more summative in nature?
Options :

1. # Process portfolio

2. % Product Portfolio

3. # Planned Portfolio

4. # Prepared Portfolio

Question Number : 290 Question Id : 60092911051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{3 TR &1 GICwhIferdl Udhfa 7 i IRIfRd 82
Options :

1. ® yfohar gicwifer

2. ¥ JAG UIETHIferl



3. % o aicw ey
4. % TR GICwHIfea)

Question Number : 291 Question Id : 60092911052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of assessment is often called authentic, comprehensive, or performance assessment and is usually designed by the teacher to gauge
student's understanding of material?

Options :

1. # Effective assessment

2. % Evidence Based Assessment

3. # Examination Based assessment

4. % Alternative Assessment

Question Number : 291 Question Id : 60092911052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y UBR & SATHa B TR UHIIG, TS IT YRl 3 Hel Sidl g 3R IR TR e/ gR1 Il & IR & B & IH7g &
AT & fore quR fasan Sirar 82

Options :

1. % gYTdT 3Thad

2. % &Y TYUTRA SHThar

3. % TRI&T 3MUTRA SThei

4. ¢ IHIAD MHT

Question Number : 292 Question Id : 60092911053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the central function of formative assessment that involves a focus on the detailed content of what is being learnt, rather
than simply a test score.

Options :
1. # Portfolio



2. # Report
3. ¥ Feedback
4. # Grade Point Average (GPA)

Question Number : 292 Question Id : 60092911053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: T Tten o1 et B § o Bad Ui 3ich & o ST AT S 38T § St fagd Al R e higd Hre
YA B

Options :

1. % Urcthiferdl

2. % fUre

3. TR0

4. % Y @R 3d

Question Number : 293 Question Id : 60092911054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Students who are unable to communicate using spoken or sign language have access to support and services.
Options :

1. ¥ Augmentative and Alternative communication (AAC)

2. # Differentiated Instruction

3. #* Natural Support

4. % Team Collaboration

Question Number : 293 Question Id : 60092911054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S BT SIelt ST aTeht a1 Fidbfods HINT 6T ST HReb YdTg o H 9 §, 37 I T 3R TaT3f b Ugd g
Options :

1. ¢ Tafdd iR I TR (AAC)




2. % fyufea fFdw
3. % Yipfae qHdA
4, % G UGN

Question Number : 294 Question Id : 60092911055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Teaching assistants is also known as
Options :

1. # Special Educator

2. % Non-enrolling teacher

3. ¢ Shadow teacher

4. % Non-teaching staff

Question Number : 294 Question Id : 60092911055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRreror ggrIeD| Bl & A\ ft I ST g
Options :

1. % faRIy fRrerd

2. % IR AHIGA R

3. ¢ B fRigi®

4. % TR-R1gor HHART

Question Number : 295 Question Id : 60092911056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which model of Inclusive Education, the student is included during regular education classroom instruction to provide him or her with
appropriate interaction with non-disabled peers?

Options :
1. ¥ Non-academic Model
2. # Self-contained Model



3. ¥ Pull-out Model
4. ¥ Social Mainstreaming Model

Question Number : 295 Question Id : 60092911056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gHah e & fryg Ared H, B & IR-Aeman Tt & Iy Ifad foar-foa=f uem o= & o Fufia e sen e & SRM
e foram ST 89

Options :

1. % IR-AeffOrw Aisd

2. % W-ffga dred

3. % Jd-313¢ Hied

4. ¢ ST TRAYRT Hlsd

Question Number : 296 Question Id : 60092911057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thematic Apperception Test comes under which type of projective test?
Options :

1. # Association Type

2. % Construction Type

3. % Completion Type

4. % Expressive Type

Question Number : 296 Question Id : 60092911057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TR & Rufed Juidwe e & sidvid fawaTd Jucer uia i g2

Options :

1. % TOIRUYE T8y

2. ¢ HICAA CIgY



3. % HHIRH 8T
4. % TGQURIG <8

Question Number : 297 Question Id : 60092911058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The relationship between ideas and words is a source of meaning or

Options :

1. # Syntax

2. # Phonology
3. ¥ Semantics
4. # Schema

Question Number : 297 Question Id : 60092911058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faaRY 3R <Teal o o BT Haiy 37 T CARCIRS
Options :

1. % grefa=ary

2. % WAHAIE

3. ¢ HiHfCH

4. % THA

Question Number : 298 Question Id : 60092911059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the inventory that measures normal traits of personality and describes individuals in the way other see them.
Options :

1. ¥ California Psychological Inventory (CPT)

2. % Bell Adjustment Inventory (BAI)

3. #® Neo-Personality Inventory (NEO-PI)



4. ® Millon Clinical Multiaxial Inventory (MCMI)

Question Number : 298 Question Id : 60092911059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 T BT A1 I3 Sl Afakdd b TTHIRT AU DI AT & 3R HAfadd! 7 90 I dRE Bl § ol GOk 3= 4d ol
Options :

1. ¢ SHfawpifar graiafoed gacst

2. % 9d USoReHE gdexl

3. % fa.oedAferd sdedt

4. % e foaRed A INfaaad g-dc

Question Number : 299 Question Id : 60092911060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of drama are designed with a clear beginning, middle and end?
Options :

1. ® Non-linear Drama

2. ® Holistic Drama

3. ® Process-oriented Drama

4. % Linear Drama

Question Number : 299 Question Id : 60092911060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o YR o ATed WP YI311d, 7T 3R 3fd & 1 dIR fohT o71d g2
Options :

1. % A-caR g

2. % gifcifes g

3. % UNY-S{IRUCS g

4. ¢ AR ST




Question Number : 300 Question Id : 60092911061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In linear drama, which technique allows students to add their own dramatisation at the moment?
Options :

1. # Sharing

2. % Side-coaching

3. # Spotlighting

4. ¥ Improvisation

Question Number : 300 Question Id : 60092911061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR ST H, ®F I dob-iie S| S 39 THG U] W BT A1edHR0l Se BI AR ot 82
Options :

1. % 2R

2. % Yrg8-HIfdT

3. % Weargfi

4. ¥ ISR




